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The following table shows the number of newspapers printed as shown i1nside the brackets
and the number of newspapers distributed at different cities on a particular date. Answer
the questions 1 to 5:

Citv-wise Distribution of Newspaper

Newspaper | Newspaper | Newspaper | Newspaper | Newspaper
—» A B C D
citﬂ (2000) (2000) (1000) (1000)
Della 1000 750 320 250
Lucknow 500 250 250 175
Varanasi 200 150 165 155
Jaipur 200 3560 135 160

Sub questions

Question Number : 1 Question Id : 5362283313 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which city the distribution of paper 1s minmimum?
(1) Jalpur (2) Lucknow

(3) Delh1 (4) Varanasi

Options :

53622812901. 1
53622812902. 2
53622812903. 3
53622812904. 4

Question Number : 2 Question Id : 5362283314 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the percentage of distributed newspapers compared to printed newspapers?

(1) 83.6% (2) 84.0%
(3) 82.0% (4) 82.5%
Options :

53622812905. 1
53622812906. 2
53622812907. 3
53622812908. 4

Question Number : 3 Question Id : 5362283315 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the percentage of distribution of newspaper C in all the cities as compared to total
number of newspapers distributed?

(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622812909. 1
53622812910. 2
53622812911. 3
53622812912. 4

Question Number : 4 Question Id : 5362283316 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of distribution of Newspaper A to newspaper B?

(1) 16: 15 2y 7:5
(3) 19: 15 (4) 17:15
Options :

53622812913. 1
53622812914. 2
53622812915. 3
53622812916. 4

Question Number : 5 Question Id : 5362283317 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the ratio of total distributed paper to total newspaper printed?

(1) b:6 (2) 51:60
(3) 167 : 200 (4) 52:61
Options :

53622812917. 1
53622812918. 2
53622812919. 3
53622812920. 4

Question Id : 5362283312 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension
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I 500 250 250 175
T 200 150 165 155
ERby 200 350 135 160

Sub questions

Question Number : 1 Question Id : 5362283313 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812901. 1
53622812902. 2
53622812903. 3
53622812904. 4

Question Number : 2 Question Id : 5362283314 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the percentage of distributed newspapers compared to printed newspapers?
(1) 83.5% (2) B4.0%
(3) 22.0% (4) B2.5%

(1) 83.5% (2) 84.0%
(3) 82.0% (4) 82.5%
Options :

53622812905. 1
53622812906. 2
53622812907. 3
53622812908. 4



Question Number : 3 Question Id : 5362283315 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622812909. 1
53622812910. 2
53622812911. 3
53622812912. 4

Question Number : 4 Question Id : 5362283316 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FET

(1) 16:15 () T7:5
(3) 19: 15 (4) 17:15
Options :

53622812913. 1
53622812914.2
53622812915. 3
53622812916. 4

Question Number : 5 Question Id : 5362283317 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) 5:6 (2) 51:60
(3) 167 : 200 (4y 52:61
Options :

53622812917. 1

53622812918. 2

53622812919. 3

53622812920. 4

Sub-Section Number : 2
Sub-Section Id : 536228132
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 5362283318 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If teaching 1s viewed as a continuum, which of the following modality, involves active ‘give’
and ‘take between the teacher and learner?

(1) Training (2) Conditioning
(3) Instruction (4) Indoectrination
Options :

53622812921. 1
53622812922. 2
53622812923. 3
53622812924. 4

Question Number : 6 Question Id : 5362283318 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812921. 1
53622812922.2
53622812923. 3
53622812924. 4

Question Number : 7 Question Id : 5362283319 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the correct sequence from lower to higher, for indicating learning outcomes related

to affective domain?

(A) Recelving

(B) Valuing

(C)  Responding
(D) Organization

(E) Characterization

Choose the correct answer from the options given below :

(1) (A). (B). (C). (D) and (E) (2) (A), (C). (B). (D) and (E)
(3) (C). (D). (E), (A) and (B) (4) (B). (C), (A). (D) and (E)
Options :

53622812925. 1
53622812926. 2
53622812927. 3
53622812928. 4

Question Number : 7 Question Id : 5362283319 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  (A). B). (C). (D) 77 (E) (2) (A). (C). (B). (D) 371 (E)

(3)  (C). (D). (E). (A) 31 (B) 4) (B). (C). (A). (D) 377 (E)

Options :

53622812925. 1
53622812926. 2
53622812927. 3
53622812928. 4

Question Number : 8 Question Id : 5362283320 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Ability of an individual or group implies the components of knowledge. skill

and experience,

Statement IT: Willingness of an individual or group implies the components of confidence,

commitment and motivation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement IT is correct
Options :

53622812929. 1
53622812930. 2
53622812931.3
53622812932. 4

Question Number : 8 Question Id : 5362283320 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622812929. 1
53622812930. 2
53622812931.3
53622812932. 4

Question Number : 9 Question Id : 5362283321 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List [ wath List IT : List I provides the basic management functions to be performed by
a teacher while the List II gives their description.

List I Last IT
(A) Planning (Il It involves feedback of results and
follow up to compare
accomplishments.
(B) Organizing (I) It 1nvolves engagement 1In task

relevant activities.

(C) Motivating (IIT) It involves bringing together resources
and people.
(D) Controlling (IV) It involves setting goals and objectives.

Choose the correct answer from the options given below :

(1)  (A)-AV), (B)-(IIL). (C)-(ID), (D)-(D)
(2) (A)-(D), (B)-(II), (C)-(I1I). (D)-(IV)
(3)  (A)-aD. (B)-D), (C)-(IV). (D)-(I1I)
(4 (A)-(IID), (B)-(IV). (C)-(D). (D)-(IT)

Options :

53622812933. 1
53622812934.2
53622812935. 3
53622812936. 4

Question Number : 9 Question Id : 5362283321 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(IV), (B)-(IID). (C)-(I), (D)-(D)
(2) (A)-(D). (B)-(II), (C)-(III). (D)-(IV)
(3) (A)-(IT). (B)-(T), (C)-(IV). (D)-(III)

(4) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)
Options :
53622812933. 1
53622812934.2
53622812935. 3
53622812936. 4

Question Number : 10 Question Id : 5362283322 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reaszon (R) :

Assertion (A):  The use of ICT has a great potential for optimising learning outcomes.

Reason (R) : ICT promotes scope for varety. flexability and attractiveness.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

53622812937. 1
53622812938. 2
53622812939. 3
53622812940. 4

Question Number : 10 Question Id : 5362283322 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812937. 1
53622812938. 2
53622812939. 3
53622812940. 4

Question Number : 11 Question Id : 5362283323 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the non-probability sampling procedures from the following :

(A) Simple random sampling
(B) Quota sampling

(C) Cluster sampling

(D) Snowball sampling

(E) Dimensional sampling

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (B). (C) and (D) only
(3 (B). (D) and (E) only {(4) (C). (D) and (E) only
Options :

53622812941. 1



53622812942.2
53622812943.3
53622812944. 4

Question Number : 11 Question Id : 5362283323 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) == (A), (B) 31 (C) (2) == (B). (C) 3R (D)

(3) F=4 (B). (D) ¥7 (B) (4) Fa9 (O). (D) w1 (E)
Options :

53622812941. 1
53622812942. 2
53622812943. 3
53622812944. 4

Question Number : 12 Question Id : 5362283324 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A college principal conducts an ethnographic probe into the problems faced by tribal
students. Which method of sampling will be most appropriate?

(1) Random sampling (2) Stratified sampling
(3) Cluster sampling (4) Systematic samphng
Options :

53622812945. 1
53622812946. 2
53622812947.3
53622812948. 4

Question Number : 12 Question Id : 5362283324 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

53622812945. 1
53622812946. 2
53622812947.3
53622812948. 4

Question Number : 13 Question Id : 5362283325 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I: Fundamental research 1s directed at exploring the applicability of truths and

principles already established.

Statement IT : Action research aims at ameliorating the ongoing conditions and practices.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement IT 1s correct
Options :

53622812949. 1
53622812950. 2
53622812951.3
53622812952. 4

Question Number : 13 Question Id : 5362283325 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622812949. 1
53622812950. 2
53622812951.3
53622812952. 4

Question

Number : 14 Question Id : 5362283326 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Asszertion (A) : Rezearch ethics and its observance 1s necessary in the interest of
credibility and quality of research.

Reason (R) : The policy making bodies have to be accountable for pursuing research

with an eve on promoting excellence.

In the light of the above statements. choose the correct answer from the options given below :

(1)

(2)

(3)

(4)
Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) 18 true



53622812953. 1
53622812954.2
53622812955. 3
53622812956. 4

Question Number : 14 Question Id : 5362283326 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622812953. 1
53622812954.2
53622812955. 3
53622812956. 4

Question Number : 15 Question Id : 5362283327 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A researcher intends to find out the differences in motivational outlook of first degree level
students in terms of their belongingness to rural/urban areas and the educational status of
parents. What will be the dependent variable in this study?

(1) Belongingness to rural/urban areas (2) First degree level

(3) Educational status of parents (4) Motivational outlook
Options :
53622812957. 1
53622812958. 2
53622812959. 3
53622812960. 4

Question Number : 15 Question Id : 5362283327 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622812957. 1
53622812958. 2
53622812959. 3
53622812960. 4

Question Number : 16 Question Id : 5362283328 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communication 1s indicative of one’s

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-like approach
Options :

53622812961. 1
53622812962. 2
53622812963. 3
53622812964. 4

Question Number : 16 Question Id : 5362283328 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communication is indicative of one’s

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-like approach
Options :

53622812961. 1
53622812962. 2
53622812963. 3
53622812964. 4

Question Number : 17 Question Id : 5362283329 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following elements in the latter part of the

communication process after decoding :

(A) Environment
(B) Feedback

(C) Context

(D) Interference

Choose the correct answer from the options given below :

(1) (A, (B), (C). (D) (2) (B). (C). (D). (A)
3 (O, D). (A). (B) (4) (B). (A). (O). (D)
Options :

53622812965. 1
53622812966. 2
53622812967. 3
53622812968. 4

Question Number : 17 Question Id : 5362283329 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A, (B). (C). (D) (2) (B). (C). (D). (&)

(3) (C). (D). (A). (B) (4) (B). (A). (C). (D)
Options :

53622812965. 1
53622812966. 2
53622812967. 3
53622812968. 4

Question Number : 18 Question Id : 5362283330 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT :

List I List IT
(Tvpe of media) (Example)
(A) Synchronous media (I) Application of multi-media
(B) Asynchronous media (II) Interactive multi-media
(C) Rich media (III) E-maail
(D) Hyper media (IV) Telephone

Choose the correct answer from the options given below :

(&Y (A)-(D. (B)-(ID). (C)-(I1D). (D)-(IV)
(2) (A)-(IV), (B)-(III). (C)-(II), (D)-(T)
(3) (A)-(ID. (B)-(IV). (C)-(I). (D)~(11I)
(4) (A)-(IIT). (B)-(D). (C)-(IV). (D)-(1I)

Options :

53622812969. 1
53622812970. 2
53622812971. 3
53622812972. 4

Question Number : 18 Question Id : 5362283330 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(&Y (A)-(D. (B)-(ID). (C)-(I1D). (D)-(IV)
(2) (A)-(IV), (B)-(I11). (C)-(II), (D)-(I)
(3) (A)-(II). (B)-(IV). (C)-(I). (D)-(11I)

(4) (A)-(IIT). (B)-(I). (C)-(IV). (D)-(AL)
Options :
53622812969. 1
53622812970. 2
53622812971. 3
53622812972. 4

Question Number : 19 Question Id : 5362283331 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reas=on (R) :

Assertion (A):  Effective communicators align appearance with body language and tone.

Reason (R) : Such an alignment forms part of the art of persuasion.

In the light of the above statements, choose most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct
Options :
53622812973. 1
53622812974. 2
53622812975. 3
53622812976. 4

Question Number : 19 Question Id : 5362283331 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812973. 1
53622812974. 2
53622812975. 3
53622812976. 4

Question Number : 20 Question Id : 5362283332 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are contributive to positive influence on teacher-student
communication?

(A) Making assumptions

(B) Limited interaction

(C) Fostering a senze of belongingness
(D)  Acknowledging participation

(E) Persuative attitude

Choose the most appropriate answer from the options given below :

(1)  (A). (B). (C) only (2) (B). (C). (D) only
(3)  (C). (D). (E) only (4) (A). (D). (E) only
Options :

53622812977. 1



53622812978. 2
53622812979. 3
53622812980. 4

Question Number : 20 Question Id : 5362283332 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(C)  wErEe H AT g
(D) TSI T =T AT

1) %= (A), (B). (C) (2) == (B). (C). (D)
(3) == (C). (D). (E) (4) FF9 (A). (D). (E)
Options :

53622812977. 1
53622812978. 2
53622812979. 3
53622812980. 4

Question Number : 21 Question Id : 5362283333 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A pipe normally fills a tank 1in 12 hours. but, due to a leak, it takes 8 hours more. If the tank

1s full, how many hours will the leak take to empty 1t?

(1) 12 2y 22
(3) 30 4y 33
Options :

53622812981. 1
53622812982. 2
53622812983. 3
53622812984. 4

Question Number : 21 Question Id : 5362283333 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

T IS U 2 S AHAR 9 12 521 § 4T 961§ | Wi {othel 1 99e @ 36 9 ° 8 5¢ Aigw w0 # |

T3 ¥ w1 5N A forest Rl a9E | 38wl B9 8 e w9 e

(1) 12 (2) 22
(3) 30 (4 33
Options :

53622812981. 1
53622812982. 2
53622812983. 3
53622812984. 4

Question Number : 22 Question Id : 5362283334 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the remainder when 64 divides 16717

(1) 4 (2) 5
(3) 6 (4 7
Options :

53622812985. 1
53622812986. 2
53622812987. 3
53622812988. 4

Question Number : 22 Question Id : 5362283334 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
1671 %1 64 & faaitsm = o e 20 s ?

1 4 2 b5
(3) 6 (4 7
Options :

53622812985. 1
53622812986. 2
53622812987. 3
53622812988. 4

Question Number : 23 Question Id : 5362283335 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Two trangles are said to be congruent if their corresponding angles are

equal and corresponding sides are proportional.

Statement II : Two triangles are said to be similar if their corresponding angles and

corresponding sides are equal.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is correct but Statement I 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

53622812989. 1
53622812990. 2
53622812991. 3
53622812992. 4

Question Number : 23 Question Id : 5362283335 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fr= 71 =g fqu o

o (ID) ;=1 Brgs =1 ooy a1 51 2 47 39 T 0 3 5 S g A

ST FHET F ATAF T AT e § H wE I A
(1)  =g= I3 I3 57 7 |

(2) w¥E IR = 7 2 |

(3)  #u =g  fog %o IL7erd 2 |

4) Y I 3w 2 g we I a2

Options :

53622812989. 1
53622812990. 2
53622812991. 3
53622812992. 4



Question Number : 24 Question Id : 5362283336 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the wrong number in the series :

7. 8. 18, 57, 228, 1165, 6996

(1) 1165 (2) 228
(3) a7 (4) 18
Options :

53622812993. 1
53622812994. 2
53622812995. 3
53622812996. 4

Question Number : 24 Question Id : 5362283336 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fr=iferiad gea-%9 § § Teld T F Td1 S

7. 8. 18, b7, 228, 1165, 6996

(1) 1165 (2) 2328
(3) 57 (4) 18
Options :

53622812993. 1
53622812994. 2
53622812995. 3
53622812996. 4

Question Number : 25 Question Id : 5362283337 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: When we perform an experiment, then the set S of all possible outcomes 1s

called the sample space.
Statement II : Any superset of a sample space 1s called an event.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement IT are falze
(3) Statement I is correct but Statement IT 1= false

(4) Statement I is incorrect but Statement II 1s true
Options :
53622812997. 1
53622812998. 2
53622812999. 3
53622813000. 4

Question Number : 25 Question Id : 5362283337 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 31 FE faw o #
Fo (I): =9 79 18 T4 Fd & O 7 J9F 97 F1 59==a S iAes T Fee |

Fga (ID : Tt wfdeel im =1 %15 Afqag=== sde Feend 7 |

ST FUAT F AAF ° =G e 8 H Th 3 9
(1)  =wya IR I 2E =55 2 |

2)  FoF I I3 e 7

(3) v I5ca # Tohg 9= IL7ea 2 |

4) =y I sEeg & g wu ILae 2|
Options :
53622812997. 1
53622812998. 2
53622812999. 3
53622813000. 4

Question Number : 26 Question Id : 5362283338 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In terms of the relationship indicated below, which word will correctly pair to replace the
question mark?

Q

Frown : Pain :: Smile : 2
(1) Joy (2) Sorrow

(3) Failure {(4) Discomfiture
Options :

53622813001. 1
53622813002. 2
53622813003. 3
53622813004. 4

Question Number : 26 Question Id : 5362283338 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
= 291w U HEY F AR, BT 9753 U7 T9es % T W gl 5 e

W
[l

T« ST o TR

=

(1) =m 2y 349
(3) e (4) =omE
Options :

53622813001. 1
53622813002. 2
53622813003. 3
53622813004. 4

Question Number : 27 Question Id : 5362283339 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 12 labelled as Asczertion (A) and the other 1= labelled as
Reason (R) :

Assertion (A) : Since the perception of hardness 1s not necessarily connected with its
colour, it can be said that all the perceptions seen conjoined but never
connected.

Reason (R) : Causal relationship 1s always contingent and probable because 1t 1s

derived from experience.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :
53622813005. 1



53622813006. 2
53622813007. 3
53622813008. 4

Question Number : 27 Question Id : 5362283339 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jr= =1 Fo fov T E T5En 1 v Aiime (A) 310 35 F 9 (R) TR TR

AT (A) : [T F3AT 1 919 IER U7 H AEAE B U HEiUd T5] 7 ST q5 A 9 A6l 7
o mft s Tg9 wHid = 2 weg i TaEfaa TE A 2 |

T (R) : FE-FAOUHAF TO9 T ATHGF ST HOTEA w9 2 FE 98 A9 J O w
=
B

ITGFT FIET F AAT 0 ARG e O @ w35 A

(1) (&) 3 (R) 2T 771 # 37 (R), (A) 1 A = 2 |
@ @ 3R @) A E T @), () F o e 2
(3 (AT g ® T T

@ () E T R g (R) 7

Options :

53622813005. 1

53622813006. 2

53622813007. 3
53622813008. 4

Question Number : 28 Question Id : 5362283340 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions :
All philosophers are fallible.
Hegel 1s not fallible.

In the classical square of opposition, which one of the following 1s the correct option for this?
(1) Contrary (2) Sub contrary
(3) Contradictory (4) Subaltern

Options :

53622813009. 1
53622813010. 2
53622813011. 3
53622813012. 4



Question Number : 28 Question Id : 5362283340 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tt FifF gmem # |
PR Bt e e e Bl

o019 = Feraehl 97 H 36 T FEengd § 9 hA-E {6 "R B Y

(1) T (2) F7-Fafm=
(3) = (4) TmE (EEETEe)
Options :

53622813009. 1
53622813010. 2
53622813011. 3
53622813012. 4

Question Number : 29 Question Id : 5362283341 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions :
Some animals are fierce.
Some animals are not fierce.

In the classical square of opposition which one of the following is the correct option?

(1) Subaltern (2) Contradictory
(3) Contrary (4) Bub-contrary
Options :

53622813013. 1
53622813014. 2
53622813015.3
53622813016. 4

Question Number : 29 Question Id : 5362283341 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F9 A YW = 7 |

FS A GEW TE B F |

oA & Heriaehl @ ° T fou HefaniEd § 9 ®A-0 faweg g8l 7 7

(1) = (weeee ) (2) =T

(3) fawfme= (4) FT-fawiETd
Options :

53622813013. 1
53622813014. 2
53622813015. 3
53622813016. 4

Question Number : 30 Question Id : 5362283342 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I TLast IT
(Concept) (Philosopher)
(A) Causality is apriori (I) Anstotle
{(B) Causality 1s synthetic (II) Hegel
(C) Causality 1s dialectical (IIT) Hume
(D) Causality 1s materal (IVy Kant

Choose the correct answer from the options given below :

(1) (A)-ID, (B)-(D). (C)-(IV). (D)-(1II)
2)  (A)-0V), (B)-III). (C)-(ID). (D)-(I)
(3)  (AD, (B)-(IV), (C)(I1), (D)-(I)
@ (A)-I). (B)-@). (C)-(I). (D)-(IV)

Options :

53622813017. 1
53622813018. 2
53622813019. 3
53622813020. 4

Question Number : 30 Question Id : 5362283342 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TAl-1 il F-I1 o Fofera Fife

FA-I =11
(Fremom) (FrT )
(A) =HEIET TEEEEE # | O 39
(B) WU HIOICHE 7 | an ==
(C) TFHvET TEA ¢ | III) ==
(D) T Hifd® 7 | av) ==
Hr= f2u o e | 5 9E I o =

(1) (A)-ID. (B)-@), (C)-(IV). (D)-(1II)
(2) (A)-(IV), (B)-(I1I), (C)-(IL). (D)-(I)
(3) (A)-(D), (B)-(IV). (C)-(I1I). (D)-(II)
(4) (A)-(IID). (B)-(I). (C)-(II). (D)-(IV)

Options :

53622813017. 1

53622813018. 2

53622813019. 3
53622813020. 4

Question Number : 31 Question Id : 5362283343 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CDMA stands for

(1) Code Division Multiplexed Access
(2) Code Division Multiple Access

(3) Code D1vision Mobile Access

(4) Code Division Mobile Adapter
Options :

53622813021. 1

53622813022. 2

53622813023. 3
53622813024. 4

Question Number : 31 Question Id : 5362283343 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TSR (CDMA) F71 71074 7

(1) == Ted199 aedieiaes TaaE
(2) == T oo T
(4) =z Tz gEEe vEe



Options :

53622813021. 1
53622813022. 2
53622813023. 3
53622813024. 4

Question Number : 32 Question Id : 5362283344 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In display technology. CRT stands for

(1) Cathode Ray Transmission
(2) Computer Ray Transmission
(3 Cathode Ray Tube

(4) Cathode Ray Transducer

Options :

53622813025. 1
53622813026. 2
53622813027. 3
53622813028. 4

Question Number : 32 Question Id : 5362283344 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tere TaET 5, T AW 2 F A

(1) =S 1 ZEmeN (2) FE T ZEEEE
(3) Hus T TE (4) FATs T ZE=
Options :

53622813025. 1
53622813026. 2
53622813027. 3
53622813028. 4

Question Number : 33 Question Id : 5362283345 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: External hard disk is a primary memory.

Statement II : In general. pen drives have more storage capacity than external hard disks.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is correct but Statement II is false
(4) Statement I is incorrect but Statement IT is true
Options :

53622813029. 1
53622813030. 2
53622813031. 3
53622813032. 4

Question Number : 33 Question Id : 5362283345 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fo (@) : e TS foeh v e e 2

%o (ID) : WH=a: U9 S5 1 F2EA SEAT S B1S (566 " AT Bl f |

I9IFT FUAT & ATATE | A= [Eed 3 H WA 3 g4
(1)  =u= I #AR I 2F 98 2 |

@) = I I EE TeE 2

(3) = &g 2 g 9a I17Tem 7 |

(4) Fo I 55 7 g o9 [ oA 2 |
Options :
53622813029. 1
53622813030. 2
53622813031. 3
53622813032. 4

Question Number : 34 Question Id : 5362283346 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT : List IT contains examples of the items Listed in Last L.

List I List IT
(A) Web 2.0 Applications (). Windows 8, 1-08S
(B) Search Engines (I) C++, Java
(C) System Softwares (III) Blogs, Twitter
(D) High level languages (IV) Google. Yahoo

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I1I). (C)-(I), (D)-(II)
(2) (A)-(III). (B)-(IV). (C)-(D. (D)-(II)
(3) (A)-(D). (B)-(I1D). (C)-(IV). (D)-(IL)

4 (A-IV), (B)-(I). (C)-(IID), (D)-(II)

Options :

53622813033. 1
53622813034.2
53622813035. 3
53622813036. 4

Question Number : 34 Question Id : 5362283346 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g=1-1 =t g=-I1 & gafaq Fifao -

=11 11
(72) (ZareT)
(A) F9 2.0 TR @ fa=18, sme-=1 vm
(B) TH I @) C++, 71
(C) To=s AT (IID) ==, feger

Hr= T2 ™ faspeT | @ w3 9T

(1) (A)-(IV). (B)-(I1I), (C)-(I), (D)-(II)
(2) (A)-(III), (B)-(IV). (C)-(I), (D)-(II)
(3) (A)-(D). (B)-(III). (C)-(IV). (D)-(II)

(4) (A)-(IV). (B)-(I). (C)-(IIL), (D)-(1I)
Options :
53622813033. 1
53622813034. 2
53622813035. 3
53622813036. 4

Question Number : 35 Question Id : 5362283347 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true?
(A) An algorithm may produce no output
(B) An algorithm expressed in a programming language 1s called a computer program.
(C)  An algorithm is expressed in a graphical form known as flowchart
(D)  An algorithm can have infinite sequence of instructions.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (A). (B) and (D) only
(3) (C) and (D) only (4) (B) and (C) only
Options :

53622813037. 1
53622813038. 2
53622813039. 3
53622813040. 4



Question Number : 35 Question Id : 5362283347 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foffga 98 $9 § Fu Teg 2 7
(A) T USTINEH FE AIYE TRl S HHAT 7 |

]

(B) TR SES H ARG USTIHEE W e T Fa A

(C)  WTF F =0 H A= TSTEE F F =2 HE A E |

(D) U UEIHER | S H G FH A T A

4= 27 T faweT 8 1 w3 g9
(1) = (A) 37 (B) (2) FA4 (A). (B) #F (D)

(3) =& (C) #iT (D)

Options :

53622813037. 1
53622813038. 2
53622813039. 3
53622813040. 4

Question

Number : 36 Question Id : 5362283348 Question Type

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Exposure to excessive nolse pollution can cause

(A)
(B)
(C)
(D)
(E)

Hearing impairment
Insomnia

Rise in blood pressure
Respiratory disease
Reduced work efficiency

(4) == (B) 307 (C)

: MCQ Option Shuffling : No Is Question

Choose the most appropriate answer from the options given below :

(1)

(3)
Options :
53622813
53622813

53622813
53622813

(A). (C). (E) only (2) A,
(B). (C) and (E) only (4) (A).

041. 1
042. 2
043. 3
044. 4

(C). (D) only
(B), (C) and (E) only

Question Number : 36 Question Id : 5362283348 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=y

AT S 75 § Wdfoga § i H w0 7 g6 7
(A) e

(B)  #AAHE

(C)  TEEm T Ahg

D)  TEEA HEH T

(E)  =eiman 59 &7 9

I foa ™ fawegt 8 1 w8 =W 9w

(1) =4 (A). (C) =1 (E) (2) FF (A), (C) 57 (D)

(3)  Fa@ (B). (C) # (E) (4) FF4 (A). (B). (C) 57 (E)
Options :

53622813041. 1
53622813042. 2
53622813043. 3
53622813044. 4

Question Number : 37 Question Id : 5362283349 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Photo Voltaic system (PV-system) arrange the following from smallest to the largest umt
(A) Module
(B)  Array
(C) Solar cell
(D) Array field

Choose the correct answer from the options given below :

(1}  (B). D). @A). (C) 2) (B). (D). (C). (A
(3)  (C). (B). (D). A) (4) (0. (A), (B). (D)
Options :

53622813045. 1
53622813046. 2
53622813047. 3
53622813048. 4

Question Number : 37 Question Id : 5362283349 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T - T woret (i =i-fawen) |, Feiafan % geE oid ° 999 9351 390 % %9 | oS

(A)  #ASgA

B) ™

(C) =w#AA

(D) W

F fow e foet A @ wE S AR -

(1) (B). (D). (A). (C) (2) (B). (D). (C), (A)

(3 (). (B). (D). (A) (4 (O). (&), (B). (D)
Options :

53622813045. 1
53622813046. 2
53622813047. 3
53622813048. 4

Question Number : 38 Question Id : 5362283350 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following types of particulate matter pollutants are used in ealculation of Air
Quality Index (AQI)?

(A) TSP (Total Suspended Particles)

(B) PM 10 (Particulate matters of size 10 micron or less)

(C)  PM 2.5 (Particulate matter of size 2.5 micron or less)

(D) PM 1 (Particulate matter of size 1 micron or less)

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A)and (B) only
(3) (B) and (C) only (4) (A).(B)and (C) only
Options :

53622813049. 1
53622813050. 2
53622813051. 3
53622813052. 4

Question Number : 38 Question Id : 5362283350 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT AT FEETE (T 9 A1E) | e ° etetEd § 9 %6 3 U F gEm w7 (Tiiges 3e) 95
= TP AT S R Y
(A)  FmE b (F TS gaEE)

(B) i v 10 (10 9EEE 1 3EE FH AR F GETHT)

(C) T um 2.5 (2.5 AEFHME T IHH FH AN F HEHAF)
(D) Tum 1 (19EEE T THE B AT F GEE)

Hr= 21 ™ fawet 5 9 w7 39 96

(1) === (B). (C) = (D) (2) T (A) AT (B)

(3) = (B) 3 (C) (4 F79 (A). (B) 7 (C)
Options :

53622813049. 1
53622813050. 2
53622813051. 3
53622813052. 4

Question Number : 39 Question Id : 5362283351 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I ListIT
(International Agreements) (Provisions)
(A) DMontreal Protocol (I) Clean affordable energy
(B) KEyoto Protocol (I) Controlling consumption and

production of Halons
(C) Convention on Biodiversity (III) Emissions trading

(D) International Solar Alliance (IV) Clearing House Mechanism

Choose the correct answer from the options given below :

(L) (A)-IV). (B)-(ID, (C)-(III), (D)-(I)
(2)  (A)-D. (B)-(D), (C)-(IID), (D)-(IV)
(3 (A)-aD. (B)-@). (C)-(IV). (D)-(I1D)

(4) (A)-(ID). (B)-ID). (C)-(IV), (D)-(I)

Options :
53622813053. 1
53622813054. 2



53622813055. 3
53622813056. 4

Question Number : 39 Question Id : 5362283351 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=11 %1 g1 § T it

I
(FATTEE )

(A) Aifzae WEmwa

(B) AT R

D) FTETHA TEE T

Fr fau o fawe @ wE I g
(1) (A)-(IV). (B)-(II). (C)-(1IL). (D)-(I)
(2) (A)-(II). (B)-(1), (C)-(III). (D)-(IV)

(3) (A)-(II). (B)-(I). (C)-(IV). (D)-(III)

AN FAN TTY 7B ATTTY 6y (T T (M
Options :

53622813053. 1

53622813054. 2

53622813055.3

53622813056. 4

T=l-11

RIEEIED

I ==z Tl T

(D) 7= 1 @A T 3e97E F T
(III) o954 ==9W

(@IV) AT 2TEE A

Question Number : 40 Question Id : 5362283352 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT :

List I ListIT
(Toxic and Hazardous substances) (Major sources)
(A) Vinyl chlomde (I Electric Insulations
(B) Polychlorinated biphenyls (PCBs) (IT) Fuel combustion
(C) Benzo(a)pyrene (IIT) Plastics Industrial uses
(D) Polyeyelic Aromatic Hydrocarbons (IV) Waste Incineration

Choose the correct answer from the options given below :

(1) (A)-(D. (B)-(IIL). (C)-(IV). (D)-(IT)
2y (A)-D. (B)-IID). (C)-(ID). (D)-(IV)
(3)  (A)IID. (B)-(IV). (C)-(II). (D)-(D)

4 (A)-(I1D). (B)-(I). (C)-(IV). (D)-(II)
Options :

53622813057. 1

53622813058. 2

53622813059. 3

53622813060. 4

Question Number : 40 Question Id : 5362283352 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 1 F=1-11 & i i

i | a1
(feeha 4T e 12T (=7 =)
(A) TormEe wemTEs (@) seifags sgomH
(B) WIS SRR (i ) ) =eE 3E
(C) == (1) (AID) weATfeesh =1 A I
(D) WTEEfFEE T wEg A @AV) =t FfE
4= f2u T fawe 3 ® T8 S o 9.

(1 (A)-(I). (B)-(IIT), (C)-(IV), (D)-(II)
(2) (A)-T). (B)-(III). (C)-(II). (D)-(IV)
(3) (A)-(ID). (B)-(IV). (C)-(II). (D)~(I)

4  (A-AID. (B)-(D. (O-IV). (D)-I)
Options :
53622813057. 1
53622813058. 2
53622813059. 3
53622813060. 4

Question Number : 41 Question Id : 5362283353 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year, All India Council for Technical Education was set up as a statutory body by
an Act of Parhament?

(1) 1986 (2) 1987
(3) 1988 (4y 1989
Options :

53622813061. 1
53622813062. 2
53622813063. 3
53622813064. 4

Question Number : 41 Question Id : 5362283353 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fefafas 9 @ 5 94 9 e F wifafe gr vE mifatas e F w1 9 afae A FEeen e
IO = =TT T i 7

(1) 1986 (2) 1987
(3) 1988 (4) 19839
Options :

53622813061. 1
53622813062. 2
53622813063. 3
53622813064. 4

Question Number : 42 Question Id : 5362283354 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the characteristics of an effective team 1n an institution of higher learning?

(A) The atmosphere tends to be informal in which members of team are involved.
(B) There 1s a lot of discussion 1n which everyone participates.

(C) The task of the group 1s well understood and accepted by the group members.
(D) The members of the group are not afraid of putting forth their 1deas.

(E) The members of the group avoid disagreement and conflict among themselves.

Choose the correct answer from the options given below :

(1) (A, (B). (C). (D) only (2) (B), (C). (D), (E) only
(3) (O, (D). (E), (A) only (4) (E). (A), (B). (C) only
Options :

53622813065. 1
53622813066. 2
53622813067. 3
53622813068. 4

Question Number : 42 Question Id : 5362283354 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w=a wifarm % FRell U § v e Fm e e A
(A)  =EERY ST B 2, THEE S F gEe S 9riEnl =E E
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(C) HHE & T = H=3 T THAT 101 = AR THE & HaH41 = H=HIHE 261 & |
(D) =9E & T2 A9 fa= #1 Wy F94 9 95 559 7

(E) ©HF % "9 A9 ¥= AaHg 31 H#EY ¥ ¥9=d |

(1) %= (A), (B). (C), (D) (2) #Fa= (B). (C). D). (E)
(3) A= (C). (D). (E). (A) (4) Fa= (E). (A). (B). (C)

Options :

53622813065. 1
53622813066. 2
53622813067. 3
53622813068. 4

Question Number : 43 Question Id : 5362283355 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Helping individuals and social groups acquire social values. contributes to development of :

(1) Environmental awareness (2) Environmental knowledge
(3) Environmental attitude (4) Environmental skills

Options :

536228130609. 1
53622813070. 2
53622813071. 3
53622813072. 4

Question Number : 43 Question Id : 5362283355 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :



53622813069. 1
53622813070. 2
53622813071.3
53622813072. 4

Question Number : 44 Question Id : 5362283356 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The principal responsibilities of Academic Council in a University include

(A) Maintenance of quality and standards of academic programmes
(B) Planning, coordination. development. oversight and review of academic programmes
of University

(C) Laving down the essential qualifications for recruitment of faculty in various
disciplines.
(D) Framing and revising/updating the contents of courses of wvarious academie

programmes.

(E) Approval of fee structure for various academic programmes

Choose the correct answer from the options given below :

(1) (A). and (B) only (2) (A), (B). (D) and (E) only
(3) (A). (B). (C) and (D) only (4) (A). (B). (C) and (E) only
Options :

53622813073. 1
53622813074. 2
53622813075. 3
53622813076. 4

Question Number : 44 Question Id : 5362283356 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(C)  Tafw= fawai § aFm-gaeai 1 941 % o0 s7=vaF steast F1 [FuifE F |

(D)  Tafa= Deafors FEwa = TETHAT i SR F AN AT AT T 3T e

(E) fafu= e FEEa & fom F1F % 29 1 =i |

S5 o e A A e i

(1) === (A) 31 (B) (2) == (A). (B). (D) 3 (E)
(3) == (A). (B), (C) 37T (D) (4 F=9 (A). (B). (C) 317 (E)

Options :

53622813073. 1
53622813074.2
53622813075. 3
53622813076. 4

Question Number : 45 Question Id : 5362283357 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT : List — I and List — II consist of types of procedures used for
continuous appralsal of teaching and non-teaching staff in higher education and
characteristics of these appraisal respectively :

List I List II
(Types of Appraisal) (Characteristics)

(A) Developmental (I) Concerned with doing and achieving

(B) Managerial (II) Concerned with moral. ethical and
professional values

(C) Laissez-faire (ITT) Concerned with maintenance of social
control

(D) Judgemental (IV) Concerned with the importance of

self-development.

Choose the correct answer from the options given below :

(1) (A)-(ITT), (B)-(IV). (C)-(II), (D)-(D)
(2) (A, (B)-D). (C)-(IV). (D)«(III)
(3) (A)-(D. (B)-(I1I). (C)-(II). (D)-(IV)
4) (A)-(IV), (B)-(II), (C)-(I1I), (D)-(I)

Options :

53622813077. 1

53622813078. 2

53622813079. 3
53622813080. 4

Question Number : 45 Question Id : 5362283357 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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TH1-1 T=1-11
(qeaTT F T ) (femram)
(A) FERETEE @ T T AT U e s
(B) TEEATEF AD) s, Afa-FifeE @7 =9EEE 5o o
(C) ==ramy (IID) = = v | AEtd
(D) T (IV) =7e9-T9%19 * 9= o H9194

4= fu v fomeT 2 5 wE I 9T

(1) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(2) (A)-ID. B)-@), (C)-(IV), (D))
(3) (A)-(D. (B)-(IID), (C)-(II). (D)-(IV)
4y (A)-(IV). (B)(IL). (C)-(III), (D)-(I)

Options :

53622813077. 1
53622813078. 2
53622813079. 3
53622813080. 4

Sub-Section Number : 3
Sub-Section Id : 536228133
Question Shuffling Allowed : Yes

Question Id : 5362283358 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the passage and answer questions 46 to 50.

‘Power” has been differentiated by numerous authors and practitioners. Amitai Etzion1 was
among the first to describe individuals who are able to induce other individuals to comply
and take action because of their position in the organization as having position power; those
who derive their power from their followers are considered to have personal power. Some are
skilled enough to have both. Position power 1s the extent to which those people to whom
managers report are wﬂllng to delegate authﬁnty and responsibility to them. So position
power tends to flow down 1n an orgamzation. This 1= not to say that leaders do not have any
1mpact on how much position power they acerue. Thev certainly do. The confidence and trust
they develop with the people around them will often determine the willingness of upper
management to delegate to them. Remember. though. that whatever power is delegated
downward can also be taken back. Personal power 1= the extent to which followers respect,
feel good about, and are committed to the leader. They believe that their own needs and
goals will be recognized. supported, and facilitated by their leader. As such personal power in
an organisational setting comes from below - from the followers — and so flows up In an
organisation. Personal power is not inherent in the leader. If it were. managers with
personal power could take over any department and have the same commitment and rapport
they had in their last department. Personal power is a day-to-day phenomenon. Personal
power 1s a critical part of having and demonstrating emotional intelligence.

Sub questions

Question Number : 46 Question Id : 5362283359 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When individuals in an orgamisation ask others to comply with their instructions, it is
identified as

(1) organisational power (2) positional power
(3) authoritarian power (4) delegated power
Options :

53622813081. 1
53622813082. 2
53622813083. 3
53622813084. 4

Question Number : 47 Question Id : 5362283360 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Personal power emanates from

(1) the group of managers

(2) the delegation of responsibility

(3) the followers

(4) the top-level executives in an organisation

Options :

53622813085. 1
53622813086. 2
53622813087. 3
53622813088. 4



Question Number : 48 Question Id : 5362283361 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Delegation of power to managers depends upon

(1) downward flow of authority (2) the whimsicality of top managers
(3) the people around the management (4) the trust reposed by the top managers
Options :

53622813089. 1
53622813090. 2
53622813091. 3
53622813092. 4

Question Number : 49 Question Id : 5362283362 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Position power, when delegated 1s

(1) volatile (2) permanent
(3) absolute (4) 1nherent
Options :

53622813093. 1
53622813094. 2
53622813095. 3
53622813096. 4

Question Number : 50 Question Id : 5362283363 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The passage recognizes the critical role of
(1) faith of the leader in his followers

(2) emotional intelligence to have personal power

(3) needs and goals of managers for personal power

(4) power flowing upwards so that managers can gain personal power
Options :

53622813097. 1
53622813098. 2
53622813099. 3
53622813100. 4

Question Id : 5362283358 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362283359 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7= el mear 4 v ==iod g W oA SEEE o AT WA F (o FEAT 2 Al 59 39 TEE TR
El

(1)  =E4m7E o (2) TEufa® wifF
Q) s ard o (4) it T
Options :

53622813081. 1
53622813082. 2
53622813083. 3
53622813084. 4

Question Number : 47 Question Id : 5362283360 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) = % 992 4

(2)  FEAT = qiateaE =

3) R A

(4)  TEN A I=d T R
Options :

53622813085. 1
53622813086. 2



53622813087. 3
53622813088. 4

Question Number : 48 Question Id : 5362283361 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TEGH] T TF F A GG 30 W A R

(1) T F1 A9-T4% (2) =4 =LY TESH F GAEHE
(3)  TEER F SAE TH A (4) =9 HzEE TEUH g SAadited favam
Options :

53622813089. 1
53622813090. 2
53622813091. 3
53622813092. 4

Question Number : 49 Question Id : 5362283362 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) wfer e 2 @) T a2
(3)  Twue = & (4) =t A
Options :

53622813093. 1
53622813094. 2
53622813095. 3
53622813096. 4

Question Number : 50 Question Id : 5362283363 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(2)  HTEATOAE TS R UTH A= Wi B =T
(3) At wifFa = o0y Fi FAvTFar uF |E
(4)  wifEa 3w B AR TEaE SaiEas i 1w
Options :
53622813097. 1
53622813098. 2

53622813099. 3
53622813100. 4



PART II Anthropology

Section Id : 53622846
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228134
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362283364 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which American woman Anthropologist published The book. “Return to Laughter” in 1954
under the pseudonym. Elenor Smuth Bowen?

(1) Renato Rosaldo (2) Hortense Powdermaker
(3) Laura Bohannan (4) Louise Lamphere
Options :

53622813101. 1
53622813102. 2
53622813103. 3
53622813104. 4

Question Number : 51 Question Id : 5362283364 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e sanfih) mfeen wHa s 3 verTe fovy aE & @9 o ®9E 1954 4, fred g amee geash g
Bk

(1) =R EEE (9) BT qTIETE
(3) et (4) o4 cifban
Options :

53622813101. 1
53622813102. 2
53622813103.3
53622813104. 4

Question Number : 52 Question Id : 5362283365 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
Which among the following aboriginal group had been studied by Radcliffe-Brown?

(1) Chenchu (2) Zum
(3) Kariera (4) Nuer
Options :

53622813105. 1
53622813106. 2
53622813107. 3
53622813108. 4

Question Number : 52 Question Id : 5362283365 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e 1 3 T snfaamfl |ye o1 sedad e a4

(1 =9 (2) S
(3)  Ffeam 4) =
Options :

53622813105. 1
53622813106. 2
53622813107. 3
53622813108. 4

Question Number : 53 Question Id : 5362283366 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following symbolic Anthropologists called for an experimental and playful
Anthropology?

(1) Victor Turner (2) Chifford Geertz
(3) Mary Douglas (4) DBruce Kapferer
Options :

53622813109. 1
53622813110. 2
53622813111. 3
53622813112. 4

Question Number : 53 Question Id : 5362283366 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



f faw w0 yefierTedss ara-Tasmial 8 4 fored vk warmeds 3R fidede 9mHa fas 1 wwE fwa ar?

(1)  fagerad (2) TFTHE e
(3)  Hfizmem (4) g8 FTER
Options :

53622813109. 1
53622813110. 2
53622813111. 3
53622813112. 4

Question Number : 54 Question Id : 5362283367 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following belongs to semitic kin systems identified by Morgan?

(1) Armenians (2) Persian
(3) Turuk (4) Estonian
Options :

53622813113. 1
53622813114. 2
53622813115. 3
53622813116. 4

Question Number : 54 Question Id : 5362283367 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frer 1 8 =F = AT g Tafea wrft weeft yonfer & fimn s 29

(1)  sHfErE (2) FHH
(3) @ (4) Ui
Options :

53622813113. 1
53622813114.2
53622813115.3
53622813116. 4

Question Number : 55 Question Id : 5362283368 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Transferred to Anthropology. Jacques Derrida’s method of enquiry effectively entails:

(1) Discursive Text (2) Enowledge as situated
(3) End of ethnographic Authority (4) Grand Narratives
Options :

53622813117. 1
53622813118. 2
53622813119. 3
53622813120. 4

Question Number : 55 Question Id : 5362283368 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e Srerd give 1 st =i wfata =1 gma fasmm 4 siaia # fem sme a g =0 3 39

(1) [ELHIRE R (2) stafeem [
(3)  Fsniaas wivem 1 s (4) e Hifea
Options :

53622813117. 1
53622813118. 2
53622813119.3
53622813120. 4

Question Number : 56 Question Id : 5362283369 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following has criticised Margaret Mead's study on Samoan soclety?

(1) Eleanor Burke Leacock (2) Ruth Benedict
(3) Edward Sapir (4) Derek Freeman
Options :

53622813121. 1
53622813122.2
53622813123.3
53622813124. 4

Question Number : 56 Question Id : 5362283369 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813121. 1
53622813122.2
53622813123.3
53622813124. 4

Question Number : 57 Question Id : 5362283370 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ronald Inden demonstrated the relevance of Orientalist eritique for South Asian studies in
his book:

(1) Anthropology and Colonial Encounter (2) Orientalism
(3) Anthropology as cultural critique (4) Imagiming India

Options :

53622813125. 1
53622813126. 2
53622813127. 3
53622813128. 4

Question Number : 57 Question Id : 5362283370 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U908 g29 4 A fhn g 0 =l ofyend siergs B g s o sraiieea & fog

=3

(1)  UdIelrs U2 Foaiel UHT3 (2) A fersm
(3)  UYITEs] Us FeTarel & 1d (4) gaSm sfem
Options :

53622813125. 1
53622813126. 2
53622813127.3
53622813128. 4

Question Number : 58 Question Id : 5362283371 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following factors is significant in traditional Indian cities?

(1) Lack of familism (2) Atomization
(3) Principle of hierarchy (4) Formahzation
Options :

53622813129. 1
53622813130. 2
53622813131.3
53622813132. 4

Question Number : 58 Question Id : 5362283371 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR G IR U O 3 i -H R Haeay 87

(1) U ATArE i (2) U]
(3)  gvfraga = fagm (4)  Fg=ETFR
Options :

53622813129. 1
53622813130. 2
53622813131.3
53622813132. 4

Question Number : 59 Question Id : 5362283372 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Postmodern Anthropologists such as George Marcus, Michael Fisher, Renato Rosaldo
and Paul Rabinow advocated for

(1) ‘Experimental Ethnographies’ (2) ‘Othering people’
(3) “Whole cultures’ (4) ‘Functionahst Revolution’
Options :

53622813133. 1
53622813134.2
53622813135.3
53622813136. 4

Question Number : 59 Question Id : 5362283372 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  wErTeHs Jsfdg=i (2) I = =i
(3) ol AEfaai (4)  weRrArd #ifd
Options :

53622813133. 1
53622813134. 2
53622813135.3
53622813136. 4

Question Number : 60 Question Id : 5362283373 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 13 the subdivision of clan?

(1) Tribe (2) Lineage
(3) Phratries (4) Moiety
Options :

53622813137. 1
53622813138.2
53622813139. 3
53622813140. 4

Question Number : 60 Question Id : 5362283373 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e | #H w41 e 39 -TaereE 27

(1) EEEIE (2)  FY-T]
(3) el (4w
Options :

53622813137. 1
53622813138. 2
53622813139.3
53622813140. 4

Question Number : 61 Question Id : 5362283374 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In which of the following books Marilyn Strathern emploved deconstructive method?

(1) Symbols that stand for themselves (2) Anthropology and Autobiography
(3) The Predicament of culture (4) The Gender of the Gift

Options :

53622813141. 1
53622813142.2
53622813143. 3
53622813144. 4

Question Number : 61 Question Id : 5362283374 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

b W
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(1)  Feed 42 w22 Wi Sudeas (2) gt T2 S
(3) = TUeEme =0F Fea (4) Bt ATERE fmee
Options :

53622813141. 1
53622813142. 2
53622813143.3
53622813144. 4

Question Number : 62 Question Id : 5362283375 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following medical anthropological approaches can conduct phenomenological
studies?

(1) Archaeological (2) Biological
(3 Culture- ecological (4) Critical
Options :

53622813145. 1
53622813146. 2
53622813147. 3
53622813148. 4

Question Number : 62 Question Id : 5362283375 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  goweed 9T @) Sl T
(3)  HEFfd-uRfatada (4) ST
Options :

53622813145. 1
53622813146. 2
53622813147.3
53622813148. 4

Question Number : 63 Question Id : 5362283376 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Constitution of India identified the nature of Backwardness among Scheduled Castes,
Scheduled Tribes and other Backward classes as

(1) Socially and Economically Backward (2) Spatially and Emotionally Backward
(3) Socially and Educationally Backward (4) Socially and Ecologically Backward

Options :

53622813149. 1
53622813150. 2
53622813151. 3
53622813152. 4

Question Number : 63 Question Id : 5362283376 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WA o Hf9 3 AgEiaa i, s Seta o o e 9 & geu & wEmee # e e
qEAH1 27

(1)  Amifess vd snfds w0 4 firse (2) T 3R YEEeEE = 1 Uae
(3)  Emfers vd Siafes g 4 ey (4)  wrefsrer e arfifefien w0 4 foee
Options :

53622813149. 1
53622813150. 2
53622813151.3
53622813152. 4

Question Number : 64 Question Id : 5362283377 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s a key character of a food- foraging society?

(1) Caste based (2) Class based
(3) Segmentary (4) Egalitarian
Options :

53622813153. 1
53622813154.2
53622813155.3
53622813156. 4

Question Number : 64 Question Id : 5362283377 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

f 1 A i -1 Jrs s =21 qure 6 v e 2t

(1) e eI (2) i st
(3) G (4) HGATEE
Options :

536228131531
53622813154. 2
53622813155.3
53622813156. 4

Question Number : 65 Question Id : 5362283378 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following Anthropologists developed a framework for the study of humanity
1n 1ts social, cultural.biological and environmental dimensions, without reducing one to the
other?

(1) Kirsten Hastrup (2) Frederick Barth
(3) Tim Ingold (4) dJonathan Spencer
Options :

536228131571
53622813158. 2
53622813159. 3
53622813160. 4

Question Number : 65 Question Id : 5362283378 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U SHae e e oo el off uey = geeg 9 99 2ran?

(1)  =¥ea =y (2) Wefrr ad
(3)  femzies (4) FH=R TR
Options :

536228131571
53622813158.2
53622813159. 3
53622813160. 4

Question Number : 66 Question Id : 5362283379 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following has first explained the concept of tribe- caste continuum?

(1) Radcliffe-Brown (2) Robert Redfield
(3) McEim Marriott (4) F.G. Bailey

Options :

53622813161. 1
53622813162.2
53622813163. 3
53622813164. 4

Question Number : 66 Question Id : 5362283379 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 8 3 Fard wdwerm s —shfa oideas = Sareaan i s 6 o7

(1)  TefdFrs 913 (2) T Tefies
(3)  HefE Afer (4) wEsf. A
Options :

53622813161. 1
53622813162. 2
53622813163. 3
53622813164. 4

Question Number : 67 Question Id : 5362283380 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Diagnosis of chromosome aneuploidy of unborn children 1s normally done by a combination
of aminocentesis, cell culture and

(1) Pedigree analysis (2) EKaryotyping
(3) RFLP analy=is (4) Enzyme assay
Options :

53622813165. 1
53622813166. 2
53622813167. 3
53622813168. 4

Question Number : 67 Question Id : 5362283380 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fepeeft st 1 701 3 Ul w1 S Od fHEm A vfge e fam, il Had e fsferfe O 4
3= o 5 | g sen 27

(1)  aerEef fagermm (2) FETER
(3) sk e e (4) TR W
Options :

53622813165. 1
53622813166. 2
53622813167.3
53622813168. 4

Question Number : 68 Question Id : 5362283381 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Growth hormone that promotes growth and has an effect on just about every cell in the body
1s secreted by

(1) Adrenal gland (2) Thyroid gland
(3) Pituitary gland (4) Testes and Ovaries
Options :

53622813169. 1
53622813170. 2
53622813171.3
53622813172. 4

Question Number : 68 Question Id : 5362283381 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



afe =1 Hafda e SR i o e gk wiv # gdfad w5 are gfa weiE w wE e g
AR

(1) i afe (2) umEE Ui
3 s (4) - uf¥a FdevE
Options :

53622813169. 1
53622813170. 2
53622813171. 3
53622813172. 4

Question Number : 69 Question Id : 5362283382 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Homo Floresiensis, the pygmy fossils. described by Brown et al in 2004 were discovered

from:

(1) Indonesia (2) Italy
(3) Spain (4) Ethiopia
Options :

536228131731
53622813174. 2
53622813175.3
53622813176. 4

Question Number : 69 Question Id : 5362283382 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

134 F A= 5 2004 H Afvia 21 weiifauiig, dH sfamw fiars e ad @ o

(1)  S=ETEn (2) ol
(3) T4 (4) slerfen
Options :

53622813173. 1
53622813174. 2
53622813175. 3
53622813176. 4

Question Number : 70 Question Id : 5362283383 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Australopithecus afarensis (Lucy) hived in

(1) East Africa (2) Central Africa
(3) South Africa (4) West Africa
Options :

53622813177. 1
53622813178. 2
53622813179. 3
53622813180. 4

Question Number : 70 Question Id : 5362283383 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) i ke (2) Heq sl
(3)  afemr b (4) afF=m sThi
Options :

53622813177. 1
53622813178. 2
53622813179. 3
53622813180. 4

Question Number : 71 Question Id : 5362283384 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Neutral theory of molecular evolution was developed by

(1) Francis Galton (2) Motoo Kimura
(3 Sewall Wright (4) JBS Haldane
Options :

53622813181.1
53622813182. 2
53622813183.3
53622813184. 4

Question Number : 71 Question Id : 5362283384 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



) sk fehms o e Ragia = fosrs feferfiaa g for o o1

(1)  HITEH e (2) W2 fygn
(3)  HaETE (4) Sl vH EEE
Options :

53622813181.1
53622813182. 2
53622813183.3
53622813184. 4

Question Number : 72 Question Id : 5362283385 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following epochs has been suggested by some to be renamed as
“Anthropocene™?

(1) Pliocene (2) Ahocene
{(3) Holocene (4) Pleistocene
Options :

53622813185. 1
53622813186. 2
53622813187.3
53622813188. 4

Question Number : 72 Question Id : 5362283385 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feferfiaa § 4 o g o was 4 OG9TEE" % 79 3 g4 e e e 2

(1)  wfdeH 79 (2) WA I
(3)  AdHdH g1 (4) FFedd 440
Options :

53622813185. 1
53622813186. 2
53622813187. 3
53622813188. 4

Question Number : 73 Question Id : 5362283386 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



PRA1s:

(1) Participatory Rural Appraisal (2) Participatory Rapid Appraisal
(3) Participatory Rigid Appraisal (4) Participatory Repeat Appraisal
Options :

53622813189. 1
53622813190. 2
53622813191.3
53622813192. 4

Question Number : 73 Question Id : 5362283386 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

di. e, 2.

(1)  wrfdfief e vl (2) eyt oe s
(3)  wifdfed fifsrs vise (4) T frde vt
Options :

53622813189. 1
53622813190. 2
53622813191. 3
53622813192. 4

Question Number : 74 Question Id : 5362283387 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Coefficient of correlation will be always:

(1) More than Zero (2) More than one
(3) Lezs than one (4) DBetween —1 and +1
Options :

53622813193. 1
53622813194.2
53622813195.3
53622813196. 4

Question Number : 74 Question Id : 5362283387 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



He~HaH &1 T 20

(1) 92 4 s 2 @) uF G sfr 2
(3  uHAFHE (4) -1 307 +1 % &= #m
Options :

53622813193. 1
53622813194. 2
53622813195.3
53622813196. 4

Question Number : 75 Question Id : 5362283388 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Action rezearch means

(1) A Longitudinal research
(2) Research initiated to solve an immediate problem
(3) A research with socio-economie objective
(4) An applied research
Options :
53622813197. 1
53622813198. 2

53622813199. 3
53622813200. 4

Question Number : 75 Question Id : 5362283388 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o sna =4 2
(1)  sge=d wie
(2) et TaE % qHvaE & forn sy fa m sy
(3)  amrfas-snfedes 3999 & w9y
(4)  AFULE 9

Options :

53622813197. 1
53622813198.2
53622813199. 3
53622813200. 4

Question Number : 76 Question Id : 5362283389 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Genetic diversity 1s required for natural selection to act. but natural selection can reduce or
eliminate diversity. What process can restore genetic diversity to a population?

(1) Genetic drift (2) Mutation
(3) Sexual selection (4) Stabihizing selection
Options :

53622813201. 1
53622813202. 2
53622813203.3
53622813204. 4

Question Number : 76 Question Id : 5362283389 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
STEhfereF =44 1 o1 i o fofu saEfae fafaa 1 sravasd 2 we W 99a S w5 9 36
IgeH W HEAl 2 Bl sHEen & o siafve ffagae & gEeiv zg #E H wiE
I’

() ST S (@) serfEd
@ AR (4)  Teermia =
Options :

53622813201. 1
53622813202. 2
53622813203. 3
53622813204. 4

Question Number : 77 Question Id : 5362283390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Homo naledi. a new species of the genus Homo was discovered in 2015 from:

(1) Palestine (2) Indonesia
(3) Austria (4) South Africa
Options :

53622813205. 1
53622813206. 2
53622813207. 3
53622813208. 4

Question Number : 77 Question Id : 5362283390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



LA

Sfi=# 21 =61 we 2 gl 2 Herdl =S 2015 ° Heiafaa G728 o

(1)  Tefred (2) FEHfEME
(3) @i (4) afem sdR
Options :

53622813205. 1
53622813206. 2
53622813207.3
53622813208. 4

Question Number : 78 Question Id : 5362283391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Furuhata's Index 1s calculated as

@ NBeTs .m0
Loops

(2) @ «100
Loops

3 9P 100
hes

o  EEE s
Arches

Options :

53622813209. 1
53622813210. 2
53622813211.3
53622813212. 4

Question Number : 78 Question Id : 5362283391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FEETE] HAF Fl A = v # of i 2

(1)  =* . 100

ok
=M

@) i « 100
F'Eq
o4

) T « 100
:‘rrq

(4) =HF . 100

Options :

53622813209. 1
53622813210. 2
53622813211.3
53622813212. 4

Question Number : 79 Question Id : 5362283392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The mechanism that can cause a gene to move from one linkage group to another is
known as

(1) Inversion (2) Crossing-over
(3) Translocation (4) Duplcation
Options :

53622813213. 1
53622813214.2
53622813215.3
53622813216. 4

Question Number : 79 Question Id : 5362283392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

39 YUY o F1 ke A1 2 Foreeh R vs A vs forsh dE 4 w2 gHl a9 =l Sid 27

(1) wifeelms (g9aea4) (2) FiFE A
(3)  FAHIHY (ZIHeAFIH) (4) femgfa (geefrem)
Options :

53622813213. 1
53622813214.2



53622813215.3
53622813216. 4

Question Number : 80 Question Id : 5362283393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Philadelphia chromosome 1s generated by translocation between

(1) Chromosome 18 and Chromosome & (2) Chromosome 22 and Chromosome 9
(3) Chromozome 22 and Chromozome 3 (4) Chromosome 16 and Chromosome 4
Options :

53622813217. 1
53622813218. 2
53622813219.3
53622813220. 4

Question Number : 80 Question Id : 5362283393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ferersfeman 1o 2 6 seufa fforfiaa = nea wamra grad 2

(1)  "HA 18 9 IIFEE 6 (2) VUM 22 FIIE 9
(3) THFA2290HE 3 (4) TEE 16 97HA 4
Options :

53622813217. 1
53622813218. 2
53622813219.3
53622813220. 4

Question Number : 81 Question Id : 5362283394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a man with hypertrichosis marries a normal women., what percentage of their sons
would be expected to have hairy ears?

(1) 0% (2) 2b6%
(3) 50% (4) 100%
Options :

53622813221. 1
53622813222.2
53622813223.3
53622813224. 4



Question Number : 81 Question Id : 5362283394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
el BTEETEARITER 3 e 1S P9 Ueh AT A1 A faare w5 2, @ 39 o wiawd g o il g A 26

(1) 0% (2) 25%
(3) 50% (4) 100%
Options :

53622813221. 1
53622813222. 2
53622813223.3
53622813224. 4

Question Number : 82 Question Id : 5362283395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The DNA fingerprinting process involves

(1) Chain terminators (2) Degenerate Oligonucleotides
{3) VNTR loc1 (4) mt-DNA
Options :

53622813225. 1
53622813226.2
53622813227.3
53622813228. 4

Question Number : 82 Question Id : 5362283395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fueu siyfe-wm uiEa § fefate afofem 2 .

(1)  siael quT (2) faFd sifermglaadiery
(3) iz (4) uHd-Eiuu
Options :

53622813225 1
53622813226. 2
53622813227.3
53622813228. 4



Question Number : 83 Question Id : 5362283396 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who proved the validity of the Three Age system using stratigraphy?

(1) J.J.A Worsaae (2) C.J. Thomsen
(3) V.G.Childe (4) F. Bordes
Options :

53622813229. 1
53622813230. 2
53622813231.3
53622813232. 4

Question Number : 83 Question Id : 5362283396 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o = Ta=rr = v e A g orredl 31 Sa 1 e e 27

(1)  S.3.0. 9 (2) HiS. 9mEs
(3) A, =geE (4) U WEH
Options :

53622813229. 1
53622813230. 2
53622813231.3
53622813232. 4

Question Number : 84 Question Id : 5362283397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Typical Ahar Ware 1s

(1) Black and Red ware with decoration in white
(2) Red-slipped ware with decoration in black
(3) Red painted buff ware

(4) Cream-slipped ware with decoration in white

Options :

53622813233. 1
53622813234. 2
53622813235.3
53622813236. 4



Question Number : 84 Question Id : 5362283397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
farfame simer w2 @
(1)  vad 9 gafssE #1e 9 95 912
(2) =l d gaEl el ol 9 9
(3) I T H T W
(4)  wifqun o Fret vad 3 e vie
Options :
53622813233. 1
53622813234.2

53622813235.3
53622813236. 4

Question Number : 85 Question Id : 5362283398 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following has been 1dentified as a trading site?

(1) Chanhudaro (2)  Surkotada
(3) Lothal (4) Kalibangan
Options :

53622813237. 1
53622813238.2
53622813239.3
53622813240. 4

Question Number : 85 Question Id : 5362283398 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feferfian 1 4 forg wue o s2ram w9 & w0 1§ g fET

(L ArEr )  FFETE]
(3) U @  FE
Options :

53622813237. 1
53622813238.2
53622813239. 3
53622813240. 4



Question Number : 86 Question Id : 5362283399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who discovered microliths in the rockshelters of Mirzapur?

(1) A.C. Carllevle {2y R.B. Foote
(3) D.P. Agarwal (4) M. Wheeler
Options :

53622813241. 1
53622813242. 2
53622813243.3
53622813244. 4

Question Number : 86 Question Id : 5362283399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

forstige = Stemera U fora e gy <6 s 617

(1) v, R @) sl g2
(3) Al swEr (4) A =R
Options :

53622813241. 1
53622813242. 2
53622813243.3
53622813244. 4

Question Number : 87 Question Id : 5362283400 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tools of which of the following sites bear resemblance to the Bandarawela factory site in Sm

Lanka?

(1) Teri (2) Shorapur Doab
(3) Sarai Nahar Rai (4) Koldihawa
Options :

53622813245. 1
53622813246. 2
53622813247.3
53622813248. 4

Question Number : 87 Question Id : 5362283400 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Feerfeafiam wereti 0 & form woe1 3 S offetan o ST=tael el Toret o HEeTa) #1 964 #7587

(1y () (2) IO ST
(3) | AL (4) wwifezama
Options :

53622813245. 1
53622813246. 2
53622813247.3
53622813248. 4

Question Number : 88 Question Id : 5362283401 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who determined the age of the Pleistocene epoch in Punjab and Himachal Pradesh?

(1) B. Allchin and F.R Allchin (2) H.de Terra and T.T. Paterzon
(3) H.H. Dani (40 H.D. Sankalia
Options :

53622813249. 1
53622813250. 2
53622813251.3
53622813252. 4

Question Number : 88 Question Id : 5362283401 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

GaTE | feuTee 9591 4 ufdgeq Fed % g0 ) e il e

(1) . sifeem @ v 3. e @) vAEIad A v
(3)  u=.uH. gH] (4) el weprfor
Options :

53622813249. 1
53622813250. 2
53622813251.3
53622813252. 4

Question Number : 89 Question Id : 5362283402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

The other name for “Swinging blow method” 1s

(1) Clactomian technique

(2) Levalloisian technique

(3) Mousterian techmque

(4) Stone hammer technique
Options :

53622813253. 1
53622813254.2
53622813255.3
53622813256. 4

Question Number : 89 Question Id : 5362283402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
“gTerraTd wfafa =1 qaa am 2
(1)  =elseii=am aehie
(2)  SAEET daHIE
(3) AR aFH
(4) et 7ele] g% (Stone hammer technique)
Options :
53622813253. 1
53622813254. 2

53622813255.3
53622813256. 4

Question Number : 90 Question Id : 5362283403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who named the Vaal technique as “Para-Levallois™

(1) Francois Bordes (2) Lewis Binford
(3) V. Gordon Childe (4) G.L. Possehl
Options :

53622813257. 1
53622813258.2
53622813259. 3
53622813260. 4

Question Number : 90 Question Id : 5362283403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1 S (2) e fsmere
(3) 1. M2 Faez (4) _-'*ﬂUTQ:[ i
Options :

53622813257. 1
53622813258.2
53622813259.3
53622813260. 4

Question Number : 91 Question Id : 5362283404 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The analytical approaches of the following Anthropologists can be regarded as precursors of
Postmodernism:

(A) Chifford Geertz
(B) Frederik Barth

(C) Ronald Inden
(D) Tim Ingold

Choose the correct answer from the options given below :

(1) (A) and (D) only (2) (B) and (C) only
(3) (B) and (D) only (4) (A)and (B) only
Options :

53622813261. 1
53622813262. 2
53622813263. 3
53622813264. 4

Question Number : 91 Question Id : 5362283404 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frerferfiaa wwa danfe o favcrorTess SURTHT i S - S HEFaaTE & qEadi o 5H S T
(A)  TFawe e

B  FHefrrad

(C) THIeE 5899

(D)  foaoiee

SIERCORIDRC e R ke FiRen e (EO

(1) % Q)49 D) (2) e (B)d (C)
(3)  %ae (B)d (D) @) #ad (A4 B)
Options :

53622813261. 1
53622813262. 2



53622813263. 3
53622813264. 4

Question Number : 92 Question Id : 5362283405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors can accelerate the process of Sanskritisation?

(A) Dominant caste
(B) Westernization
(C) Parochialization

(D) Untouchability

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

{4) (D) and (A) only

Options :

53622813265. 1
53622813266. 2
53622813267.3
53622813268. 4

Question Number : 92 Question Id : 5362283405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Haap Tl 1 gl Fefafaa § 8 6 4 #0F did o dehd 27

(A)  wqTEl T

(B)  afg=iem

(C)  H=diieTo

(D)  HTTE

1 f22 1 fasredi 1 & 94 IR0
(1) == (A) 4 (B)

(2) F&d (B)4(0)

(3) Fd (C) 9 (D)

(4) Fad (D) (A)
Options :
53622813265. 1
53622813266. 2
53622813267. 3
53622813268. 4

Question Number : 93 Question Id : 5362283406 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Pierre Bourdieu analysed different facets of capitalism which include
(A) Human capital

(B) Social capital

(C) Cultural capital

(D) Symbolic capital

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (B). (C) and (D) only
(3) (A). (B) and (D) only
(4) (A). (C) and (D) only

Options :

53622813269. 1
53622813270. 2
53622813271. 3
53622813272. 4

Question Number : 93 Question Id : 5362283406 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



it sfyefaadl 3 dufrare o fafir el o favemm farn ford afasfen 2 -

(A)  OEEIE

(B) @l Iefi

(C) ARl Tl

(D) wfcsrresss i

CIERCE IR Ca R Rk Res t (ED IR
(1) 9 (A). B)F (0)

(2)  #4d (B). (C)4 (D)

(3) 4 (A). (B)d (D)

(4 #a4 (A). (C)4a (D)

Options :

53622813269. 1
53622813270. 2
53622813271.3
53622813272. 4

Question Number : 94 Question Id : 5362283407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following movements are involved in the context of globalization?
(A) Trade goods

(B) Information

(C) Infectious Diseases

(D) Human Rights

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A), (B) and (D) only
(3) (B). (C) and (D) only
(4) (A), (C) and (D) only

Options :

53622813273 1
53622813274.2
53622813275.3
53622813276. 4

Question Number : 94 Question Id : 5362283407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faeafefaa 7 & =W w1 Jyeis % Hed | F31 27

(A) @I F =R H

(By H=IH

(C)  Hehrad 1M

(D) gHETHET

# feg m fawedl ¥ ® wF T g

(1) &&= (A), (B) T (C)
(2)  ad (A). (B) 3 (D)
(3)  =ad (B). (C) & (D)

(4) Fa (A). (C) 3 (D)



Options :

53622813273. 1
53622813274.2
53622813275.3
53622813276. 4

Question Number : 95 Question Id : 5362283408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Directive Principles in the Constitution of India relate to the welfare
of Scheduled tribes?

(A) Article 330
(B) Article 332
(C) Article 333
(D)  Article 342

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (C) and (D) only
(3) (A). (B) and (D) only

(4) (B). (C) and (D) only

Options :

53622813277. 1
53622813278.2
53622813279. 3
53622813280. 4

Question Number : 95 Question Id : 5362283408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g Afaus & fHefafad Feee e 4 4 &9 @ el sHgi s e % e |

Hafid 27

(A) =95 330

(B)  #i=as 332

(C) HAJ=9E 333

(D)  #i=E 342

i feama faeedi 9 9 a8 s g .
(1) %9 (A). (B)d (O)

(2)  FE9 (A), (©)3 (D)

(3)  Fa (A), (B)F (D)

(4) ==« (B), (C)3 (D)

Options :

53622813277. 1
53622813278. 2
53622813279. 3
53622813280. 4

Question Number : 96 Question Id : 5362283409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following flaws of comparative approaches of Morgan and Tvlor have been
identified by Franz Boas?

(A) The methods of ethnology
(B) The assumptions of unilinear evolution
(C) The notion of modern societies as evolutionary survival

(D) The classification of societies based on weak data and inappropriate criteria.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2)  (A). (C) and (D) only
(3) (B). (C) and (D) only
(4) (A). (B) and (D) only

Options :

53622813281. 1
53622813282.2
53622813283. 3
53622813284. 4

Question Number : 96 Question Id : 5362283409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A g gl & qerTas 3wl & fafefas s @ w9 @ st w0 e Sism g fafea fem
e

(&) HFE fEEE F gt

(B) U gfiEn famme &1 qaemon

(C)  Tasmmand sswsfifaar & =9 4 sy guTa Fi grom

(D) AR AThs 9 FATTIE TGS T AT HATS o1 Feieh

TeffEa @ 9w I A9

(1) & (A). (B)d (C)

(2)  #ad (A). (C)3 (D)

(3) #d (B). (C) @ (D)

(4) el (A), (B) (D)

Options :

53622813281. 1
53622813282.2
53622813283. 3
53622813284. 4

Question Number : 97 Question Id : 5362283410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The emphasis on "Women's Worlds® led to a series of ethnographies which focussed on women

such as:

(A) Jean Briggs on Canadian Inuit

(B) Annette Weiner's restudy on Trobriand Islands
(C) Hortense Powdermaker on field work expeditions

(D)  Michelle Rosaldo on head hunting Ilongot

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (A). (C) and (D) only

(4) (B). (C) and (D) only
Options :
53622813285. 1
53622813286. 2
53622813287. 3
53622813288. 4

Question Number : 97 Question Id : 5362283410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
THTE qeeH 9 A §F F Fereawy HEd dwifaa & v swen s o afgensti o e FfEa fem

(A)  HAZIE TR W W s

B)  gifsve didi w e 5 @ gasies

(C) e sifiens T EdE Tt

(D) &2 Efen geiie W faee e

Frerferfam faedt § @ ) 3w 0 -

(1)  =ae (A). (B)d ()
(2)  FHEd (A). (B) 3 (D)
(3) FAA (A). (C)F (D)

(4)  ad (B). (C) 9 (D)



Options :

53622813285. 1
53622813286. 2
53622813287. 3
53622813288. 4

Question Number : 98 Question Id : 5362283411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following are the main attributes of Jat1?

(A) Jatls are exogamous units
(B) They are hierarchically graded
(C) They invariably have a Jati-linked occupation

(D) In several parts of India. Jatis have intra-village and inter-village mechanism of

Social control and conflict resolution

Choose the correct answer from the options given below :

(1) (A). (C) and (D) only
(2) (B). (C) and (D) only
(3) (A). (B) and (C) only
(4) (A). (B) and (D) only

Options :

53622813289. 1
53622813290. 2
53622813291.3
53622813292. 4

Question Number : 98 Question Id : 5362283411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



freaferfian 44 =7 @ sifa & g o 27

(A)  shfoan sfesnfa gadai £
(B)  SAMIH=EFH 4 2
(C) =9 Frrvane vy 1 snfa gafid saaam 2 24

(D) 9T o FR-9pT 4, it wurs s 3 wed-wmae o s I 9 s T uiE )
feforfiaa fasped o @ & 3a7 94

(1) %4 (A), (C) 9 (D)

(2)  F&d (B). ()4 (D)

(3)  =Haw (A). B)F (O)

(4)  Fad (A). (B)9 (D)

Options :

53622813289. 1
53622813290. 2
53622813291. 3
53622813292. 4

Question Number : 99 Question Id : 5362283412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Interpretive Anthropologist., Chifford Geertz published the following
(A) The interpretation of cultures

(B) Cultural Bias

(C) Works and hives : The anthropologist as Author

(D) The Religion of Java

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (B). (C) and (D) only
(3) (A). (C) and (D) only

(4) (A). (B) and (D) only

Options :

53622813293. 1
53622813294. 2
53622813295. 3
53622813296. 4

Question Number : 99 Question Id : 5362283412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=T ae dtas, e ofide A faafataa =1 gt
(&) § 3RIUeIE 3% FHeer
(B) o= wEH
(C) =% UIS IgSH : T WA sl e

(D) 2 fifersm 31 S

ettt for 1§ B T

(1)  &ad (A). (B) 9 (C)
(2)  %Ed (B). (C)F (D)
(3) I (A). (C)F (D)

(4)  FEA (A), (B)F (D)



Options :

53622813293. 1
53622813294. 2
53622813295. 3
53622813296. 4

Question Number : 100 Question Id : 5362283413 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the categories of culture as suggested by Leshe Whate?
(A) Technological

(B) Ideological

(C) Sentimental

(D) Behawvioural

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (B). (C) and (D) only

(4) {A). (C) and (D) only

Options :

53622813297.
53622813298.
53622813299.
53622813300.

AW N =

Question Number : 100 Question Id : 5362283413 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feyforfiaa 9 m o cieefl szrge g wearfan wenfa 6 s 87
(A) T Yol

(B) faEmawe

(C)  wrarEe

(D)  =EErT

frmferfia fomredi 09wl 390 =4 -

(1) F9e1 (A), (B)F (C)
(2)  F9 (A). (B)9 (D)
(3)  Fad (B). (O)F (D)

(4) a9 (A). (O)F (D)

Options :

53622813297. 1
53622813298. 2
53622813299. 3
53622813300. 4

Question Number : 101 Question Id : 5362283414 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about allele frequencies are true?
(A) The sum of any set of allele frequency 1s always 1
(B) If an allele 1s missing from a population its frequency 1s zero

(C) If there are two alleles at a locus and we know the frequency of one of them we can

obtain the frequency of the other by subtraction.

(D) If two populations have the same gene frequency for a locus. both will be in
Hardy-Weinberg equilibrium.

Choose the correct answer from the options given below :

(1)  (A). (B) and (D) only
(2)  (B). (C) and (D) only
(3) (A). (C) and (D) only
(4)  (A). (B) and (C) only

Options :

53622813301. 1
53622813302. 2
53622813303. 3
53622813304. 4

Question Number : 101 Question Id : 5362283414 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Ul FHEEAI ] (allele frequencies) # fava 4 Fferfigd 4 9 =9 4 Fuq gdi 27

(A) T ustie U2 = AEnd 1SS 299 1 2

(B) Al foH Sae 1 veliel saiea 2 @ 39 SR I g |

(C)  &fd e w51 Uelicl @ 1% 79 39 | v Ueffel ol aIRawan Sed 2 o 79 SR g8t i aed
EIEEET AT

(D) 3 v w1 % 2 wAEgEl 3 o ave ) o e 2 2 9 A gEi el -angeent dee 1 2

feferfiaa fasreal | | |2 39 7

(1)  Fad (A), (B)d (D)

(2)  #= (B). (C)4 (D)

(3)  Hae (A). (C)a (D)

(4) e (A). B)4 (O)
Options :
53622813301. 1
53622813302. 2
53622813303. 3
53622813304 4

Question Number : 102 Question Id : 5362283415 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the folllowing are characterstic features of sex-linked recessive inheritance?
(A) Affected females come from affected fathers and affected or carrier mothers
(B)  Most affected individuals are male

(C) The trait never skips generations

(D) The vast majority of the sex inked traits are found on the x-chromosome.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (B). (C) and (D) only

(4) (A). (C) and (D) only

Options :

53622813305. 1
53622813306. 2
53622813307. 3
53622813308. 4

Question Number : 102 Question Id : 5362283415 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fefefiaa 46 #a wfuensfons fman fm-dgag s gem fa 27

(A) e ufgen s O sfia warfaa Mas a warfam a0 arees aras & s 2
(B) s wanfaa =afth 7o 2 2|

(C) == vah i & fidl =erd 2

(D) =g fom-dag Al J9mrria X 4 8 v 9 2

fegferfiaa fasred] 48 w1 27 ford

(1)  Fad (A). (B)F (C)

(2)  FF (A). (B)9 (D)

(3) 4wt (B). (C)d (D)

(4) e (A). (C)d (D)

Options :

53622813305. 1
53622813306. 2
53622813307. 3
53622813308. 4

Question Number : 103 Question Id : 5362283416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are features of quantitative traits?

(A) Continuous variation
(B) Dizeontinuous variation
(C) Polygenic control

(D) Dominantly inherited

Choose the correct answer from the options given below :

(1) {A) and (C) only
(2) (B) and (D) only
(3 (A) and (B) only

(4) (B) and (C) only

Options :

53622813309. 1
53622813310. 2
53622813311.3
53622813312. 4

Question Number : 103 Question Id : 5362283416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  wadq fafaa
(B)  Had fafae
(C)  @Esiil Ham

(D) ST 9T

[ ferfian fasreal & w781 94

(1) =& (A) 3 (C)
(2) &= (B) 49 (D)
(3) FaH (A)d (B)

(4) = (B) 4 (C)
Options :
53622813309. 1
53622813310. 2
53622813311. 3
53622813312. 4

Question Number : 104 Question Id : 5362283417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following features are true of a female pelvis?

(A) Subpubic angle 1s wider (more than 90°)
(B) Sacrum is narrower and more curved
(C) Greater sciatic notch 1s wider (more than 68°)

(D) Muscle attachments are less robust

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A). (C) and (D) only
(3) (B) and (D) only
(4) (A) and (D) only

Options :

53622813313. 1
53622813314.2
53622813315.3
53622813316. 4

Question Number : 104 Question Id : 5362283417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



rerfefim fergormn =i 6 & =613 ofi fagieamd wfeen 4ifor 1 fagem 27
(A)  HFfe v =g 26 (90° 4 i)

(B)  #erw sHferas gl 3 stfoes 9% 2 2

(C) e e =l (noteh) =S #iefl 2 (68° 4 31fer)

(D) (ui") il Hais= %0 gofad 21 2|
frferfiga e 04 v 39 94

(1) =4 (A). (B)F (D)
(2)  FF4 (A). (O)F (D)
(3) %99 (B) 4 (D)

(4)  Fad (A9 D)
Options :
53622813313. 1
53622813314.2
53622813315. 3
53622813316. 4

Question Number : 105 Question Id : 5362283418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which statements about Down's syndrome are correct?

(A) Affected individuals have an extra autosome

(B) The cause 1s a non-disjunction when chromosomes do not separate during the first
meiotic division

(C) The frequency increases dramatically in mothers over the age 40.

(D) People with Down's syndrome have normal 1IQ

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3)  (B). (C) and (D) only
(4) (A). (C) and (D) only

Options :

53622813317. 1
53622813318.2
53622813319. 3
53622813320. 4

Question Number : 105 Question Id : 5362283418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



21 fEm & fawg 48 91 4 um 1 27

(A)  wufaa =gfeRal O sfafres sidmm 2|
B)  wn Tyl faurer % S S qores ser-ster 18 2 d 3 Fo iR fEbeE g 2
(C) 40 @d # sifersk 39 1 grensdi § 72 STl wgd w2wE a9 9 2

(D) =13 Mg arel S0 1 S8 -5 JH w2 |
feperfeafiam fasredi o 9w fasren 99

(1) %= (A). (B) 4 (C)
(2)  F=4 (A). (B)F (D)
(3)  %ad (B). (C)d (D)

(4 F @A) (©)F D)
Options :
53622813317. 1
53622813318.2
53622813319. 3
53622813320. 4

Question Number : 106 Question Id : 5362283419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the assumptions of Hardy-Weinberg equilibrium?
(A) Small population size

(B) Large population size

(C) Random mating

(D) No mutation

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only
(2) (A). (B) and (C) only
(3) (A). (C) and (D) only

(4) (A). (B) and (D) only

Options :

53622813321. 1
53622813322.2
53622813323.3
53622813324. 4

Question Number : 106 Question Id : 5362283419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fae=ferfid o & 4 -4 qdaon erdi-ara®i #deH (Hardy-Weinberg Equilibrium) %1 27

(A) Y HERE S
(B)  d=d SR S
(C)  T==n =y (t=emufm)

(D) Icqfrada 99

f=ferfiga fasrea | | wedl fasen =4 -
()  #a (B), ()4 (D)

(2)  #9e (A). (B)F (C)

(3) (A, (C)d (D)

(4) e (A). (B)d (D)

Options :

53622813321. 1
53622813322.2
53622813323.3
53622813324. 4

Question Number : 107 Question Id : 5362283420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true for mitochondrial DNA?
(A) Human mitochondrial DNA codes for 37 genes

(B) mt DINA 1s a double stranded loop of DNA

(C) Each mitochondrion possesses between 100-200 mt DNA loops

(D) mt DINA has only 16569 base pairs

Choose the most appropriate answer from the options given below :

(1) (A) and (C) only
(2) (A). (B) and (C) only
(3 (C) and (D) only

(4) (A). (B) and (D) only

Options :

53622813325. 1
53622813326.2
53622813327.3
53622813328. 4

Question Number : 107 Question Id : 5362283420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HTgaTahI=2 e 21,09.0. & fom feafefga 4 8 &3 @ Fo 98 27

(A)  HFEEEEFTETE € e, 1 37 o #h # )
(B)  wReFIfgael €.uA v, vk diedl erdianef] geeefl 2
(C)  Yeds Higdisif-3al €1.04.0. 4 100-200 w4, &, €1.09.10, F=zef 2|

(D) A FuAu g 16569 IHE LU ER 2

Freferfiaa fasredl 4 & w1l 397 94

(1) 4 (A) 4 (C)
(2) & (A). (B4 (C)
(3)  @ad (C)d (D)

4)  FE (A). B)F D)
Options :

53622813325. 1
53622813326.2
53622813327.3
53622813328. 4

Question Number : 108 Question Id : 5362283421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true of the Gorilla?

(A) Their locomotor pattern on the ground 1s of knuckle-walking type
(B) Their natural habitat 1s Africa and Europe

(C) Dian Fossey studied them extensively

(D) They do not have tails

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (C) and (D) only
(3) (A). (C) and (D) only

(4) (B). (C) and (D) only

Options :

53622813329. 1
53622813330. 2
53622813331. 3
53622813332. 4

Question Number : 108 Question Id : 5362283421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tiifee = fawa O frefafaa 4 8 #1949 o w27

(A) 9 oimH = #1 adiE Sied 1 1131 W FeH #1 2 (knuckle-walking type)
(B) 1 YTk e s @ 299 2
(C)  Tom= il =1 399 Te 3984 ¢

(D) 3 g A A
freferfiaa faspedi 4 4 =& 3e8 =4

(1) =4 (A), (B)d (C)
(2) a4 (C) 3 (D)
(3)  =dd (A). (C)d (D)

(4) e (B). (C)d (D)

Options :

53622813329. 1
53622813330. 2
53622813331. 3
53622813332. 4

Question Number : 109 Question Id : 5362283422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



An important disorder on chromosome 21 is Down syndrome. The phenotype 1includes:

(A) Mental retardation
(B) Immunological defects
(C) Life expectancy 1s extended by 10-20 yvears

(D) Cytogenetic abnormalities in down syndrome show 95% free trisomy and 5%

translocations

Choose the correct answer from the options given below :

(1) (A), (C) and (D) only
(2)  (C)and (D) only

(3) (B). (C) and (D) only
(4)  (A). (B) and (D) only

Options :

53622813333. 1
53622813334.2
53622813335.3
53622813336. 4

Question Number : 109 Question Id : 5362283422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



2134 Fgmm, R -21 1 vs weceay] i @ gad e amard wfifea 2

(A)  HE gha
(B)  feias—amgen dafid g
(C)  SfTaH TeIem 10-20 991 deh 9]

(D) =3 fegm § wvzdriafs saurdn 05% wek 2rgandi & 5% sty faer 2
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() %9 (A). (C)d (D)
(2)  F&E (C)d (D)
(3) =4 (B). (C)F (D)

(4  Fad (A). B)d (D)

Options :

53622813333. 1
53622813334.2
53622813335.3
53622813336. 4

Question Number : 110 Question Id : 5362283423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true for the Australopithecus afarensis (Lucy)?

(A) It was found from Hadar, Ethiopia
(B) Their age 1s about 3.0-3.6 million vears ago
(C) Their cranial capacity was about 750ce

(D) Foot prints indicate bipedal foot pattern

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (B). (C) and (D) only

(4) (C) and (D) only
Options :
53622813337. 1
53622813338. 2
53622813339. 3
53622813340. 4

Question Number : 110 Question Id : 5362283423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Aty swrafay & faw O el 89 99 8 sy 18 27
(A) T2 TR, ST A 9 T e

(B) I T ST 30-36 G A 7

(C) 3R SrelTa e e 750 €A, o

(D) vz fore Toure wafa i s gamn o &

f=ferfiaa fased] 48 w5 fased 94 -

(1)  %ad (A). (B)d (C)

(2) %4 (A). (B)d (D)

(3) = (B). (C)d (D)

(4  Fa4(C)d (D)

Options :

536228133371
53622813338.2
53622813339. 3
53622813340. 4

Question Number : 111 Question Id : 5362283424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Iron implements commonly used by the megalithic builders of South India were :

(A) Sickles
(B) Tripods
(C) Razors

(D) Chisels

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (B). (C) and (D) only

(4) (A). (C) and (D) only

Options :

53622813341. 1
53622813342. 2
53622813343.3
53622813344. 4

Question Number : 111 Question Id : 5362283424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=hary vrd =& wErarw faatasdi 3 33mm Je A =0 & T suwn w51 9gm e

(A) =g

(B)

(C) 35

D) =

fAeferfian Feredi 1 4 308 3% 90 ;

(1) e (A). (B) 5l (C)
(2)  Fad (A), (B) 31 (D)
(3)  =*ad (B). (C) %l (D)

(4) a9 (A). (C) 3 (D)
Options :
53622813341. 1
53622813342.2
53622813343. 3
53622813344 4

Question Number : 112 Question Id : 5362283425 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Neolithic settlements were witnessed in which of the following sites?

(A) Abu Hureyra
(B) Jericho
(C) Jarmo

(D) Kebara

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) {A). (C) and (D) only
(3)  (B). (C) and (D) only

(4) (A). (B) and (D) only
Options :
53622813345. 1
53622813346.2
53622813347. 3
53622813348. 4

Question Number : 112 Question Id : 5362283425 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Famyul afeaai i 9 0 8 fam—rae o g meEn an?

(A)

(B)

(C)

(D)

S

ST

ET It

feferfiaa fased 4| g 391 gHU

(1)

(2)

(3)

(4)
Options :
53622813
53622813
53622813
53622813

Question

FaA (A)

Fae (A)

Fd4 (B)
FAA (A)

345.1
346.2
347.3
348. 4

Number

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

. (B) #7 (C)
. (C) % (D)
. (C) 1T (D)

(R 31 (M

: 113 Question Id : 5362283426 Question Type : MCQ Option Shuffling : No Is Question



Which of the following were carpentry tools?

(A) Pick
(B) Adze
(C) Wedge

(D) Scraper

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (D) only

Options :

53622813349. 1
53622813350. 2
53622813351. 3
53622813352. 4

Question Number : 113 Question Id : 5362283426 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 1 | FR-4 Fasiie & siar a7

(Ay i
(B) SR
(C) ®H
(D)

freferfied fasreul @ 4 waifter 3w 39 9o ;
(1) %3 (A) 3 (B)
(2)  Fad (B) 3 (O)
(3)  ad (C) 3 (D)

(4)  FHad (A) 31 (D)

Options :

53622813349. 1
53622813350. 2
53622813351. 3
53622813352. 4

Question Number : 114 Question Id : 5362283427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The three major methods of pot making are :

(A) Coil
(B) Turntable
(C) Mould

(D) Potter's wheel

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (B). (C) and (D) only
(3) (A). (C) and (D) only

(4) (A). (B) and (C) only

Options :

53622813353. 1
53622813354.2
53622813355.3
53622813356. 4

Question Number : 114 Question Id : 5362283427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



5w % el e di

A FEd
B) HEH
(C) @

(D)  FEN I TH

freferfia fasredi O 4 waiiies suges 3 v

(1) =6 (A), (B) 31 (D)
(2) =& (B). (C) 311 (D)
(3)  had (A). (C) 3 (D)

(4)  FEd (A). (B) 31 (C)

Options :

53622813353. 1
53622813354.2
53622813355. 3
53622813356. 4

Question Number : 115 Question Id : 5362283428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following constitute ‘Living Archaeology’?

(A) Ethno archaeology
(B) Experimental archaeology
(C) Settlement archaeology

(D) Cognitive archaeology

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) {A) and (D) only
(3) (B) and (D) only
(4) {A) and (C) only

Options :

536228133571
53622813358.2
53622813359. 3
53622813360. 4

Question Number : 115 Question Id : 5362283428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



9= U 5 - st e s & Ao # 27

(A) T e o
(B)  SERTIHE e AT
(C)  awl red T

(D)  HHIEF e e

Frsyferfiam frmredi 1 & waifis 3o 30 9040 -

(1) %3 (A) 3 (B)
(2) A (A) 3T (D)
(3)  ad (B) 3 (D)

(4)  Had (A) 3 ()

Options :

53622813357 1
53622813358. 2
53622813359. 3
53622813360. 4

Question Number : 116 Question Id : 5362283429 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match

(&)

(B)

(C)

(D)

List I with Last IT

Tast T
TU.N. Dhebar
N.C. Baxena
Virginius Xaxa

B.N. Lokur

(D

(I}

(IIT)

(IV)

Tast IT
Committee on soclo — economic,

educational and health status of tribal
communities

Committee on the revision of liste of
SC and ST

National committee on Forest Rights
act, 2010

Scheduled areas and scheduled tribes
commisslon

Choose the correct answer from the options given below :

(1)

(2)

(3)

(4)
Options :
53622813
53622813

53622813
53622813

(A)-(D). (B)-(IV). (C)-(1IL), (D)-(1I)
(A)-(ID). (B)-(D), (C)-(II), (D)-(IV)
(A)-(D). (B)-(IV). (C)-(D. (D)-(I1I)
(A)-IV). (B)-(I1I). (C)-(I). (D)-(II)

361.1
362.2
363.3
364. 4

Question Number : 116 Question Id : 5362283429 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e T o =i 11 = w12 guferd ifs
g4l I
(A) 304, &R

(B) UH. Ha
(C) afsifag @
(D) v, #H

A1 e v fershel 1 & |dl 3 g

(1 (A)-D. BIV), (O)-(IID. (D)-(II)
(2) (A)-(III). (B)-(I). (C)-(IL). (D)-(IV)
(3)  (A)-ID, (B)-V). (C)-(1). (D)-(II1)
4 (A)-AV). (B)-(II). (C)-(D, (D)-(ID)

Options :

53622813361. 1

53622813362.2

53622813363.3
53622813364. 4

gl 11
(D = el = A -sids o 9 wme
o wal el At
(I) R € vy & 1 g =+ denya da0 afufd
(IIT) oA sfger sifafm, 2010 F=H g afafq
(IV) i &3 & siaf S s

Question Number : 117 Question Id : 5362283430 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Matech List T with Last IT

List I (Concepts)

(A) Prestige Economy

(B) Informal Economy

(C) Conspicuous consumption

(D) BSilent Trade

()

(IT)

List II (Explanations of concepts)

A showy display of wealth for social
prestige

The creation of a surplus for the
express purpose of displaying wealth
and giving 1t array to raise one’s
status

(IIT) The mode of exchange of goods

between mutually distrusting ethnic
group so as to avoid direct personal
contact

(IV) A network of producing and circulating

marketable commodities, labour and
services that for wvarious reasons
escapes government control

Choose the correct answer from the options given below :

(1) (A)-(I1I). (B)-(IV). (C)-(I), (D)-(1I)
(2) (A)-(II). (B)(IIL). (C)-(IV). (D)-(T)
(3) (A)-(ID). (B)-(IV). (C)-(I). (D)-(I1I)
(4) (A)-(IV). (B)-(I), (C)-(II). (D)-(I1II)

Options :

53622813365. 1

53622813366. 2

53622813367. 3

53622813368. 4

Question Number : 117 Question Id : 5362283430 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hl a1 5= 11 = |19 uferd i ;

(A)

(B)

(C)

(D)

et o2 v fasmedi | | wE IR i

(A)-(IID). (B)-(IV). (C)-(D), (D)-(IL)
(A)-ID). (B)-(IIL). (C)-(IV). (D)-(I)
(A)-(1). (B)-(IV). (C)-(D). (D)-(IID)
(A4)-AV). (B)-(D. (C)-(I), (D)-(I1T)

(1)
(2)
(3)
(4

Options :

il I
EEriu))
ufergr seferaen

HOTE 394H

HH =TI

53622813365. 1
53622813366. 2
53622813367. 3
53622813368. 4

g1 11
(=T )
(@ s gfde = foro wafa # el
TEgiA
(D) T 929 3 38 3uHi 2faga 9. & o
4 % P8 35474 H 9N #1 g9
(IID) o 33Tavar e atel T 991 + 47
geae Jgfrh H9% H a9 o for axg ot
1w
(IV) T =g aq 3, o9 SR a1l + 3e77ed
AW afraretq 1 J2dsh, o fafvs s g
wraRT s § 9= o 2

Question Number : 118 Question Id : 5362283431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

ListI List IT
(Author) (Book)
(A) S.C. Dube (I}  Tribal culture of India
(B) D.N. Majumdar (I) Indian village
(C) B.K. Rai and L.P. Vidyarthi (IIT) Nation building in Independent India
(D) M.N. Srinivas (IV) Caste and communication in an Indian
village

Choose the correct answer from the options given below :

(1) (A)-ID). (B)-(IV). (C)-(I). (D)-(III)
(2)  (A-D. (B)-(II). (C)-(1D. (D)-(IV)
(3)  (A)-AID). (B)-(II). (C)-(D). (D)-(IV)

4 (A)-OV). (B)-D. (O)-(D), (D)-II0)
Options :
53622813369. 1
53622813370. 2
53622813371. 3
53622813372. 4

Question Number : 118 Question Id : 5362283431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HeA Tal 3= I1 % e guferm Fifsw ;

Ll = 11
L ()
@) A (D) @rEde Foa g9 2fem
(B) EIL.UA. AR D e e
(C) . T ud ve. . farmedi (1) =9 fafesn g $feide gfem
D) HAT (IV) Rz e Frgfeher o $fea fe
41 f23 10 Faepeai 1 4w 7om 9o

(1) (A-ID). (B)-(IV). (C)-(D). (D)-(III)
(2) (A B)-IID). (C)-1D. (D)- AV)
(3)  (A)-ID). (B)-(ID. (C)-(D. (D)-(IV)

{4) (A)-(IV), (B)-(I}, (C)-(II), (D)-(III)
Options :
53622813369. 1
53622813370. 2
53622813371.3
53622813372. 4

Question Number : 119 Question Id : 5362283432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List II according to the Anthropologists work on specific population

List I List IT
(A) L.H. Morgan (I} Algerans
(B) E. Evans - Pritchard (II) Shoshone
(C) J. Steward (III) Seneca Nation
(D) Pierre Bourdieu (IV) Nuer

Choose the correct answer from the options given below :

(1)  (A)-IID. (B)-(IV). (C)-I). (D)-(D)
@)  (A)-AV). (B)-IID). (C)-(D). (D)-AD
(3) (A)-(II). (B)-(I). (C)-(IV), (D)-(I1I)

4  (A)-@). (B)-(ID, (C)-(III). (D)-IV)

Options :

53622813373. 1
53622813374.2
53622813375.3
53622813376. 4

Question Number : 119 Question Id : 5362283432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e fearie sin fafsre s, fom 335 e gu 2 % san, o= T 9= 1% ae g fifo

g 1 i I
(A) U, HH @D s
(B) %. gard-Tu=rE (II) ¥isH
(C) . s (III) {1 H¥A
(D) Ty aifda (IV) 2

SR CORID R C et R R Re i Reia e (E LU

(1} (A)-(IID), (B)-(IV). (C)-(II). (D)-(I)
(2) (A)-(AV), (B)-(I1I), (C)-(D), (D)-(1I)
(3)  (A-AD. (B)-(D). (C)-(IV), (D)-(IIL)

(4) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
Options :
53622813373. 1
53622813374. 2
53622813375.3
53622813376. 4

Question Number : 120 Question Id : 5362283433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last T with List IT

List I List IT
(A) Senut et al, 2001 (I)  Australopithecus ramidus
(B) Brunet et al. 2002 (II) Australopithecus africanus
(C) White et al 1994 (IIT) Sahelanthropus tchadensis
(D) Raymond Dart. 1925 (IV) Orronin tugenensis

Choose the correct answer from the options given below :

(1) (A)-ID. (B)-(IV). (C)-(IIL). (D)-(I)
(2)  (A)-V). (B)-(III). (C)-(I), (D)-(1I)
(3)  (A)-aID). (B)-(D). (C)-(IV). (D)-(1I)
(4)  (A)-D. B)ID). (O)-(IID. (D)-IV)

Options :

53622813377. 1
53622813378. 2
53622813379.3
53622813380. 4

Question Number : 120 Question Id : 5362283433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A=l TR =0 11 o = gt fifsm

el I o= 11
(A) 2 #HF 54, 2001 (D)  sreiafars ey
(B) 42 I 4, 2002 (ID) ARSATFa AR
(C) warse 3 3171, 1994 (IID) HEeHUTE =TSfEE
(D) THEEE, 1925 (IV)  SFRIHA FHREE

EIERCCRIPRCET R R R r Rt (E LR

(1) (A-ID. B)-IV). (C)-(IID). (D)-(I)
(2)  (A)-@V). (B)-II). (C)-(D), (D)-(IT)
(3) (A)-(I1I). (B)(I). (C)-(IV), (D)-(II)

4 (A-@D. (B)-I). (O)-IID). (D)-(IV)
Options :
53622813377. 1
53622813378. 2
53622813379. 3
53622813380. 4

Question Number : 121 Question Id : 5362283434 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I wath Last IT

ListT List IT

(A) Neutral theory of molecular evolution (I) A.E. Garod

(B) Invention of PCR technique (II) Motoo Kimura
(C) DNA sequencing method (III) Kary Mulis
(D) Inborn errors of metaboliam (IV) Frederick Sanger

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IV). (C)-(II). (D)-(I1T)
(2) (A)-(IID). (B)-D). (C)-(IV). (D)-(ID
(3) (A)-(II). (B)-(III). (C)-(IV). (D)-(T)

@  (A)-AV). (B)-(ID. (C)-(1). (D)-(ITD

Options :

53622813381. 1
53622813382.2
53622813383. 3
53622813384. 4

Question Number : 121 Question Id : 5362283434 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HqeA1 T H= 11 #19 gufem i ;

A I eI
(A) = FHiuek fam =1 e fagm (O u3 e
(By i 4l sw A 5 g (I =l fga
(C) Eiud.u, wqaqv fafy (IID) 1 =it
(D) =urT=R o sreT Afea (IV) Hefe dm
S IERCORIDR CEa R R Re bl Rt (L

(1)  (A)-D. B-IV). (C)-(1I). (D)-(IIL)
(2)  (A-dID). (B)-(D. (C)-(IV). (D)-(II)
(3)  (A)-ID. (B)-(ID). (C)-(IV). (D)-(D)
(4)  (A-AV). (B)-II). (C)-(I), (D)-(IIL)

Options :

53622813381. 1
53622813382.2
53622813383. 3
53622813384. 4

Question Number : 122 Question Id : 5362283435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Matech List I with Last IT

ListI List IT

(A) A specific DNA sequence that can be (I) Pseudogene
labeled and used for detecting specific
seguences

(B) A non functional DNA sequence that (II}) Primer
shows a similarity to a non allelic
gene

(C) Short, single — stranded, chemiecally (III) Numt
synthesized DNA molecules of a
specific sequence

(D) An insertion of mtDNA sequence (IV) Probe
within the nuclear genome

Choose the correct answer from the options given below :

(1)  (A)-AV). (B)-(D. (C)-(II), (D)-(I1I)
(2) (&4)-1ID). (B)-ID). (C)-(D. (D)-IV)
(3)  (A-D. BAIV). (C)-(II). (D)-(IL)
(4  (A)-ID). (B)-(D. (C)-(IID. (D)-(IV)

Options :

53622813385. 1
53622813386. 2
53622813387. 3
53622813388. 4

Question Number : 122 Question Id : 5362283435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HA1 Tt 4= 11 % g gufera $ifao

e T =l 11
(A) e fafire & va v srge fafea o Gk (O @59
SHAFE 1 91 SR = fore g
Hefe] 2
(B) U sterafais 4 v v s ol -vefifds Q) wew
S | HH=E F9E 2
(C) v fafsre sza & o9, vt ag aral (III) = (Numt)
T w0 H Hveud 2 v v
(D) Arfus sfm s+ dfif vr A D vqusggn (IV) 94
1 ST
e 2 v fashed] d 8 W Fe gi0
1 (A)-aV). (B)-(), (C)-(ID, (D)-(I1T)
(2) (A)-(I1D). (B)-(II). (C)-(D). (D)-(IV)
(3) (A)-(I). (B)-(IV), (C)-(II). (D)-(III)
(4) (A)-dID), (B)-(I). (C)-(I1D). (D)-(IV)
Options :
53622813385. 1
53622813386. 2

53622813387.3
53622813388. 4

Question Number : 123 Question Id : 5362283436 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI List IT
(4) XYY (I  Klinefelter syndrome
(B) XXY (II} Down syndrome
(C) XO (IIT) Jacob syndrome
(D) Trisomy 21 (IV) Turner syndrome

Choose the correct answer from the options given below :

(1) (A)-(IID). (B)-(ID). (O)-(D. (D)-(IV)
(2 (A)-AV), B)-(D. (C)-(I1D). (D)-(ID)
(3  (A)-AID. B)-D. (O)-V). (D)-ID
4  (A-O. ®-ID. (O-aOV). (D)-ID

Options :

53622813389. 1
53622813390. 2
53622813391.3
53622813392. 4

Question Number : 123 Question Id : 5362283436 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HAl Ta1 3= 11 o #19 gafora Fifso

gl I g 11
(&) R T AT @ FAEEeR fagm
(B) UFH UFH TS (ID) =7 faem
(C) g =0 (IID) Sad Tz
(D) Forpore 21 (IV) =¥ firgm
1 foa wl Faepeal | | |4 370 90

(1) (A)-AID. (B)-ID). (C)-(D. (D)-IV)
2)  (A)-IV). (B)-(D). (C)-(1L). (D)-(II)
(3)  (A)-AI). (B)-1). (C)-IV). (D)-(ID)
4  (A)-D, B®-ID). (C)-(IV), (D)-(III)

Options :

53622813389. 1
53622813390. 2
53622813391. 3
53622813392. 4

Question Number : 124 Question Id : 5362283437 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the raw materials in List I with the sites in List IT where they were used :

List I List IT
(A) Quartzite (D Attirampakkam
(B) Dolerite (I) Golabai Sasan
(C) Fossilwood (III) Agartala
(D) MNineralized bones (IV) Selbalgre

Choose the correct anwser from the options given below :

(1) (A)-(I). (B)-(II), (C)-(I1L), (D)-(IV)
(2) (A)-(I). (B)-(IV). (C)-(IIT), (D)-(II)
(3) (A)-(ID). (B)-(I). (C)-(IV), (D)-(I1I)

(4) (A)-(IV). (B)-(I1I). (C)-(II). (D)-(I)
Options :

53622813393. 1

53622813394. 2

53622813395.3

53622813396. 4

Question Number : 124 Question Id : 5362283437 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w1 T4 o) 0Tl o1 A= 11 3 39 2ol o @ geferd ife star e g2m fFan o

gl T el 1T
(A) FaFZSIE2 (I sl
(B) =reirE (D) AT 94
(C) iy =18 (III) e
(D) T - s IV) Hearel

Feferfiaa fasredi 8 8 9l 39 g ;

(L)  (A)-D. (B)-(ID). (C)-(ILD). (D)-IV)
(2)  @-@). B-IV). (C)-(IID). (D)-(II)
(3)  (AID, (B)-D. (C)-(IV), (D)(III)
4  (A)-IV). (B)-(II). (C)-(II). (D)-(I)

Options :

53622813393. 1
53622813394. 2
53622813395. 3
53622813396. 4

Question Number : 125 Question Id : 5362283438 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the archaeclogists in List I with the approaches they are associated with in Last IT

List I List IT
(A) AV. Kidder (I} Direct Historical approach
(B Ian Hodder (II) Cogmtive Archaeology
(C) James Deetz (IIT) Critical Archaeclogy
(D) Colin Renfrew (IV) Post — processual Archaeology

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(IV). (C)-(III). (D)-(I1I)
(2) (A)-(II), (B)-(IV), (C)-(I1I). (D)-(T)
(3)  (A)-D. (B)-(IV). (C)-(T), (D)-(IT)

4 (A-O. B)-1AV), (O)-(D), (D)-(III)

Options :

53622813397. 1
53622813398.2
53622813399. 3
53622813400. 4

Question Number : 125 Question Id : 5362283438 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=l 1 e s 261 g I1H 39 8 Horg 3 % we gifem fifm .

g+ I g 11
(A) Ui, fFge (D) ede Uldariass 39vry
(B) =4 dlgat (ID)  SATTeHe Joded fas
(C) < dizs (IIT) STl T==TeHs Jrea fasm
(D) #Fifer H5g (IV) " TREae s

F=ferfiga fasedl 48 | 393 g

(1 (A-@D. B-IV), (C)-(IL). (D)-(IT)
(2)  (A)-dD. (B)-AV). (C)-1II). (D)-(I)
(3)  (A)-ID. (B)-(IV). (C)-I). (D)-(IIT)

(4 (A)-@. B-IAV), (C)-(I), (D)-(1ID)

Options :

53622813397. 1
53622813398. 2
53622813399. 3
53622813400. 4

Question Number : 126 Question Id : 5362283439 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the correct sequence of the following in their ascending order

(A) Applied Anthropology
(B) Engaged Anthropology
(C) Advocacy Anthropology

(D)  Action Anthropology

Choose the correct answer from the options given below :

(1) (B). (A). (D). (C)
(2) (A). (D). (C). (B)
(3) (C). (A). (D). (B)

Options :

53622813401. 1
53622813402. 2
53622813403. 3
53622813404. 4

Question Number : 126 Question Id : 5362283439 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e % wdl o0 =1 39% JOE F9H e
(A) 3T A e

(B) W= yEdE fasm

(C)  derdl yiad fHam[
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=1 oo o fasedl | & |2 39 9MH

(1 (B).A). D). ()
(2)  (A).(D).(C). (B
(3) (O (A). (D). (B
(40 (A).(B).0). D)

Options :

53622813401. 1
53622813402. 2
53622813403. 3
53622813404. 4

Question Number : 127 Question Id : 5362283440 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence according to the ‘ethnical periods’ as proposed by L.H. Morgan

(A) Fich subsistence and the use of fire
(B) Iron — smelting and Iron tools
(C) Phonetic alphabet and writing

(D) Invention of speech, subsistence on fruits and nuts

Choose the correct answer from the options given below :

(1) (C). (B). (A), (D)
(2) (B). (C). (D). (A)
(3) (D). (A). (B). (C)

(49 (&) (C). D). (B
Options :
53622813405. 1
53622813406. 2
53622813407. 3
53622813408. 4

Question Number : 127 Question Id : 5362283440 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U0, GE S SN e et s del e SEE e

(A)  mell W fare s s
(B) e Wed 3iR @i 37E
(C)  Ea=areys e 31 oA

(D) 9 & wTEsER, Bl 3w e w9 w fatz

o feu o fyerei 4 9 a3 9w ;

(1) (C). (B). (A). (D)
(2) (B). (). (D). (A)
(3) (D). (A (B), (O)

(4)  (A).(C). D). (B)

Options :

53622813405. 1
53622813406. 2
53622813407. 3
53622813408. 4

Question Number : 128 Question Id : 5362283441 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange in the correct sequence of these publications 1in the ascending order

(A) The Trobrianders of Papna new Guinea — Annette B. Weiner
(B) Patterns of culture — Ruth Benedict
(C) Is female to male as nature is to culture? — Sherry Ortner

(D) Purity and Danger — Mary Douglas

Choose the correct answer from the options given below :

(1)  (C). (B). (A). (D)
(2) (A D). B).(C)
(3) (B (D). (C). A)

(4} (D). (B). (A (O)
Options :
53622813409. 1
53622813410. 2
53622813411. 3
53622813412. 4

Question Number : 128 Question Id : 5362283441 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e v = wd STOE % e
(A)  BIrEngated sivagsn = - i i
(B) e HTE Fe - BY Ao

(C) 3 Fidet 2 el US| 497 331 2 Feat ! IF1 SAior

(D) = Uz Sa —di e

Tt Tau o fasredi 0 & o) 37 g

(1) (O (B). (&), (D)
(2) (A (D). B).(C)
(3  (B).[M). ©). A

4 (D). B A).(C)

Options :

53622813409. 1
53622813410. 2
53622813411.3
53622813412. 4

Question Number : 129 Question Id : 5362283442 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of Varrier Elwin's important Publications

(A) The Muria and their Ghotul
(B) Maria Murder and suicide
(C) A philosophy for NEFA

(D) The Baiga

Choose the correct answer from the options given below :

(1) (D). (A). (B). (C)
(2) (A). (C). (D). (B)
(3) (B). (D). (A). (C)

(4) (C). (A). (D). (B)

Options :

53622813413. 1
53622813414. 2
53622813415. 3
53622813416. 4

Question Number : 129 Question Id : 5362283442 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Afeat wfee % eyl Wl 1 HE HH A

(A) =Y us S EiEE
(B) Wi 421 US gHES
(C) U TEeATadl EH ]

(D) 2

T foo o fasredi | & wd 39 g

(L (D). A). B). (C)
(2) (&), (O). (D). (B)
(3) (B (D). (A). (O

(4) (C). (A). (D). (B)

Options :

53622813413. 1
53622813414. 2
53622813415. 3
53622813416. 4

Question Number : 130 Question Id : 5362283443 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence in chronological order of the following methods of studving

human variation :

(A) Anthropometry
(B) Electrophoresis
(C) Dermatoglyphics

(D) Serology

Choose the correct answer from the options given below :

(1) (B). (D). (A). (C)
(2) (A). (C). (D). (B)
(3) (B). (D), (C). (&)

(4) (D). (B). (A). (C)

Options :

53622813417. 1
53622813418.2
53622813419. 3
53622813420. 4

Question Number : 130 Question Id : 5362283443 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ara fafaam % serad FH % e Wl S FAFIEER T

(A) U

(B)  SeldeiEifom

(C)  EHzreEired

(D} ﬁ N we f

1 few o famreai © 9 =@ 370 g

(1) (B). (D). (A). (C)
(2) (A). (C). (D), (B)
(3) (B). (D). (C). (A)

(4) (D). (B). (A). (C)

Options :

53622813417. 1
53622813418. 2
53622813419.3
53622813420. 4

Question Number : 131 Question Id : 5362283444 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following bones in order of their increasing accuracy in
zexX determination

(A)  Skull

(B) Long bones

(C) Pelwis

(D) Entire skeleton

Choose the correct answer from the options given below :

(1) (B). (A). (C). (D)
(2) (D). (A). (B). (C)
(3) (B). (C). (A). (D)

(4) (C). (&), (B). (D)

Options :

53622813421. 1
53622813422. 2
53622813423.3
53622813424. 4

Question Number : 131 Question Id : 5362283444 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e =iz =1 fom -Tasion 4 391 ged g & & F5 4 +0e

b fal

(A)  =@MEl
(B) el fea
(C)  Fee ol afeal

(D) I FFA
fet fau o e 4 3 @ 3w AU

(1) (B). (A). (C). (D)
(2) (D). (A). (B). (C)
(3) (B, (0). (A). (D)

(4) (C). (A). (B). (D)
Options :
53622813421. 1
53622813422.2
53622813423.3
53622813424. 4

Question Number : 132 Question Id : 5362283445 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following fossils in the order of their discovery

(A) Homo erectus
(B) Sivapithecus
(C) Sinanthropus pekinensis

(D) Homo heidelbergensis

Choose the correct answer from the options given below :

(1) (D). B). (A).(C)
(2 @A), D). dB).(C)
(3)  (C). (A (D). (B)

(4) (B). (D). (C). (A4)

Options :

53622813425. 1
53622813426. 2
53622813427. 3
53622813428. 4

Question Number : 132 Question Id : 5362283445 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A) 7 gEes
(B)  fgafusrs
(C)  fadagre gfwdfan

(D) EH EEIdAdsHEY

foet T o faered 4 9 o 370 9o

(1) (D). (B). A). ()
(2) (&). (D). (B). (C)
(3) (C). (A). (D). (B)

(4) (B). (D). (C). (A)

Options :

53622813425. 1
53622813426.2
53622813427. 3
53622813428. 4

Question Number : 133 Question Id : 5362283446 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following primates in the ascending order of their
divergence In primate evolution

(A) Orangutan

(B) Gibbon

(C) Chimpanzee

(D) Gorilla

Choose the correct answer from the options given below :

(1) (A). (). (B). (D)
(2) (D). (B). (C). (A)
(3) (4). (C). (B). (D)

(4) (B). (A). (D). (C)

Options :

53622813429. 1
53622813430. 2
53622813431. 3
53622813432. 4

Question Number : 133 Question Id : 5362283446 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faey a1 a0 & =iy T O 39 syomnfoa & i@ @9 & w9 g d ere

(A)  HOTIZFHA
B)  firesH
(C)  T=ursf

(D) Mg
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(1) (A). (C). (B). (D)
2 (D). ®B. (0. @A
(3) (A). (C). (B). (D)
(4 (B). (A). (D). (C)

Options :

53622813429. 1
53622813430. 2
53622813431. 3
53622813432. 4

Question Number : 134 Question Id : 5362283447 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the sites 1n order of their location from west to east :

(A) Kuchai
(B) Gufkarl
(C) Koldihawa

(D)  Daojali Hading

Choose the correct answer from the options given below :

(1) (B).(C). A). D)
2  (B).A. ). D)
(3) (B (O, (D). (&)

(4) (C). (B), (A). (Y
Options :
53622813433. 1
53622813434. 2
53622813435.3
53622813436. 4

Question Number : 134 Question Id : 5362283447 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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&)  FwE
(B)  FH

(C)  Fi=EEa
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(1) (B (O). (4), (D)
(2) (B A. (C). D)
(3) (B (C) (D). (&)

(4) (C). (B). (A). (D)

Options :

53622813433. 1
53622813434.2
53622813435. 3
53622813436. 4

Question Number : 135 Question Id : 5362283448 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the given cultures in order of their temporal development :

(A) Madrasian
(B) Kayvatha
(C) PGW

(D) Nevasian

Choose the correct answer from the options given below :

(1) (&), (D). (B). (C)
(2) (A), (D). (C). (B)
(3) (D). (A). (B). (C)

(4) (D). (A). (C). (B)
Options :
53622813437. 1
53622813438.2
53622813439. 3
53622813440. 4

Question Number : 135 Question Id : 5362283448 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A)  HEIREA
(B) 49l

(Cy disliEsey
(D)  HdfEE
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(1) (A). (D). (B). (C)
(2) (A). (D). (©). (B)
(3) (D). (A). (B). (C)

4 (D). (A). (). (B

Options :

53622813437. 1
53622813438. 2
53622813439. 3
53622813440. 4

Question Number : 136 Question Id : 5362283449 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is labelled as

Beason R

Assertion (A):  Globalisation triggers worldwide changes., but different peoples and

cultures are not necessarily changing in the same direction.

Reason (R) : Many of the cultures studied by Anthropologists in the last centuries have

not changed 1nspite of powerful outside influences and internal dvnamies.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 18 false but (R} 1s true

Options :

53622813441. 1
53622813442. 2
53622813443.3
53622813444. 4

Question Number : 136 Question Id : 5362283449 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A 31 R) SHIEE & 301 (R), (A) F 781 =2rEn 2
(2) (A 3R (R) THHE S WA (R), (A) il 9 sawe 56 2

(3)  (A)udl 2, WA (R) 4 2|
(4 (A)FD 2, W (R) T2

Options :

53622813441. 1
53622813442.2
53622813443. 3
53622813444. 4

Question Number : 137 Question Id : 5362283450 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion (A):  Marrage 1s a culturally sanctioned union between a man and a woman
Reason (R): Marriage 1s socially - sanctioned union between two or more people.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) (A) 1s true and but (R) 1s false

(4) (A) 1s false and but (R) 1s true

Options :

53622813445. 1
53622813446. 2
53622813447. 3
53622813448. 4

Question Number : 137 Question Id : 5362283450 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 71 o fod 8 F) v w e (A) 3R g w1 ad (R) FE TR

AAFHL (A) : faame v ows SiR = % = wrepios gfe § wefiea wfEeE 2
% (R) : faare g1 =1 @ @ wfves st & dia gl =0 8 wfiea wfoem 2
I HUH] o S H eifRa fawed § ) w8 g I A

(1) (&) 3R ®R) e w2

(2) (A 3R (R) gH T 74 21

(3) (A FE 2, T R) w2

(4) (A FA A 2, T (R) T A

Options :



53622813445. 1
53622813446. 2
53622813447.3
53622813448. 4

Question Number : 138 Question Id : 5362283451 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion A and the other i labelled as

Eeason R
Assertion (A) :  Vermiform appendix 1s a vestigial organ in human body
Reazon (R) : Vermiform appendix does not participate in digestion

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 18 not the correct explanation of (A)
(3) (A) 18 true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options :

53622813449. 1
53622813450. 2
53622813451.3
53622813452, 4

Question Number : 138 Question Id : 5362283451 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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e (A) : i viifesn g IR &1 v srEer] =37 2
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@ (A 3 ®) I EE 0 ®), (&) 1w =ven w72
(3)  (A)HF 2, W= (R) 41 421 2|
(4)  (A)HA A 2, W (R) 9 2|

Options :

53622813449. 1

53622813450. 2

53622813451. 3
53622813452. 4

Question Number : 139 Question Id : 5362283452 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion (A) :  Repetitive DNA sequences are the nucleotide sequences that are repeated
many times in human genome.
Reaszon (R) : Repetitive sequences have no direct role in coding.
In the hight of the above statements. choose the correct answer from the options given
below :
(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false
(4) (A) 1= false but (R) 1= true
Options :

53622813453. 1
53622813454.2
53622813455.3
53622813456. 4

Question Number : 139 Question Id : 5362283452 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(4) Q) FA IR, W (R) ¥R

Options :

53622813453. 1
53622813454.2
53622813455. 3
53622813456. 4

Question Number : 140 Question Id : 5362283453 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1= labelled as Assertion A and the other 1= labelled as

BReason R

Assertion (A) : Saddle guerns derive their name from their resemblance to the riding
saddles

Reaszon (R) : When saddle querns are regularly used for grinding and pounding grains,

they become deeper or more concave.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
{(2) Both (A) and (R) are true but (R) 18 not the correct explanation of (A)
(3) (A) 1s true but (R) 1is false

(4) (A) 1s false but (R) 1s true
Options :
53622813457. 1
53622813458. 2
53622813459. 3
53622813460. 4

Question Number : 140 Question Id : 5362283453 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(4) (A H# FE1 2, W ) 9E 2

Options :

53622813457. 1
53622813458. 2
53622813459. 3
53622813460. 4

Sub-Section Number : 2
Sub-Section Id : 536228135
Question Shuffling Allowed : Yes

Question Id : 5362283454 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage below and answer the questions that follow : (91 — 95)

In most societies in New Guinea. women did not traditionally participate in the resolution of
disputes. And they could not bring actions against men. But when village courts were
introduced. women began to go to court to redress offenses against them.

In colonial times, the introduced western-styvle courts followed Western law. primarily
Australian and British common law, not native customary law. After Papua New Guinea
became an independent country. those courts remained in place. The lowest of the courts.
called local courts, were located in town centers, often far from villages. In 1973, a new kind
of court was created. called village courts. they were designed to settle local disputes in the
villages, using a blend of customary law and western law. In contrast to local courts.
magistrates in the village courts were selected from the pool of traditional and local leaders.

When Richard Scaghon studied changes in village courts from 1977 to 1987. he noticed a
shift towards an increased use of these courts by women. A joint study by Scaglion and Rose
Whittingham revealed that when women approach the courts. the cases are mostly related to
sex — related offenses (sexual jealousy. rape. incest. domestic disputes) committed by men.
Most disputes in New Guinea villages are settled informally by self — help or by appeal to a
"big man"; the courts are appealed to as a last resort. Women do not believe that they can get
satisfaction informally. So they go to the village court, where they win some sort of
punishment for the defendant in about 60 percent of the cases, just about the same rate that

men achieve when they bring a case seeking punishment.

Sub questions

Question Number : 141 Question Id : 5362283455 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Women in New Guinea traditionally avoided participating in dispute resolution because :
(1) They belonged to a male — dominated society

(2) They belonged to an egalitarian simple society

(3) They did not believe they will get satisfaction in informal settlements

(4) They feared social stigma attached to 1t

Options :

53622813461. 1
53622813462.2
53622813463.3
53622813464. 4

Question Number : 142 Question Id : 5362283456 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who were the magistrates of the village courts?

(1) Keepers of customary law
(2) Big man
(3) Local leaders

{4) Upholders of British common law

Options :

53622813465. 1
53622813466. 2
53622813467. 3
53622813468. 4

Question Number : 143 Question Id : 5362283457 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What did Scaglion find in his study?

(1) Increased use of courts by women
(2) More appeals by women but less resolution
(3) Women prefer self — help redressals

(4) Decreased caszes of domestic disputes

Options :

53622813469. 1
53622813470. 2
53622813471. 3
53622813472. 4

Question Number : 144 Question Id : 5362283458 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who benefited the most from the setting up of the new courts in Papua New Guinea?

(1) Men (2) Big man
(3) Women (4) Children
Options :

53622813473. 1
53622813474. 2
53622813475.3
53622813476. 4

Question Number : 145 Question Id : 5362283459 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

In cases where women were complainants which most of the following offenses appear to be
most common?

(1) wife beating (2) mental torture
(3) rape (4) property disputes

Options :

53622813477. 1
53622813478. 2
53622813479.3
53622813480. 4

Question Id : 5362283454 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 5362283455 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813461. 1
53622813462. 2
53622813463. 3
53622813464. 4

Question Number : 142 Question Id : 5362283456 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
qre ST | o B i 97
(1)  9R9HE FH o 15
(2)  faniq
(3)  EaHiE Al
(4)  Tordm FHA FEA o e

Options :

53622813465. 1
53622813466. 2
53622813467. 3
53622813468. 4

Question Number : 143 Question Id : 5362283457 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813469. 1
53622813470. 2
53622813471. 3
53622813472. 4

Question Number : 144 Question Id : 5362283458 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g =g T 4 2 srrerdl = wermgn 4 fame waiiee ey gt

(1) i =l (2) Mo
(3)  wfgensi= (4) w=
Options :

53622813473. 1
53622813474.2
53622813475.3
53622813476. 4

Question Number : 145 Question Id : 5362283459 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For wreel] H afzemd gfrarE) of 39 ggel § T3 § 9 F9-91 3900 Had 3319 o1 ?

(1) sfidi =i e (2)  HHTE F=5
(3)  elichn (4) Hrafd Faed frare
Options :

53622813477. 1
53622813478. 2
53622813479. 3
53622813480. 4

Sub-Section Number : 3
Sub-Section Id : 536228136
Question Shuffling Allowed : Yes

Question Id : 5362283460 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

: Yes Group



Read the passage below and answer the guestions that follow : (96 — 100)

Since the Neolithic. people have had to cope up with a host of new diseases that began as a
consequence of changes in human behaviour. Over the past several decades. this has become
a renewed source of concern following the resurgence of infectious diseases and the spread of
a host of new and lethal diseases. More than thirty diseases. new to medicine have emerged
in the past thirty — five vears. Perhaps the best known of these 1s AIDS, which has become a
top killer among infectious diseases. But there are others - like Ebola hemorrhagic fever,
which causes victims to bleed to death. and other hemorrhagic fevers like dengue fever,
Lassa fever and hantavirus. Although it is not clear what has sparked the appearance and
spread of these new diseases. one theory 1s that some are the result of human activities. In
particular. road costruction and the intrusion of people into remote ecological settings, such
as rainforests, along with worldwide shipping and airplane traffic. allow viruses and other
infectious microbes to spread rapidly to large numbers of people.

Most of the “new" viruses that have suddenly. afflicted humans are in fact old ones present
in animals - such as monkeys (monkey pox). rodents (hanta virus), deer (Lyme disease) and
insects (West Nile virus). What 1s different 1s that something has enabled them to jump from
their amimal hosts to humans. Large — scale habitat disturbance 1= an obvious explanation
for such disease transfers. In a globalized world. as travel allows diseases to spread
worldwide, we need a fuller understanding of how pathogens interact with their hosts if we
are to devise effective preventive and therapeutic strategies to deal with them.

Sub questions

Question Number : 146 Question Id : 5362283461 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the obvious reason for the emergence of new diseases?

(1) Reinsurgence of old diseases (2) domestication of animals
(3) Changes in human behaviour (4) 1ncreased mohility
Options :

53622813481. 1
53622813482.2
53622813483. 3
53622813484. 4

Question Number : 147 Question Id : 5362283462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following fevers cause victims to bleed to death?

(1) Viral fever (2) Hemorrhagic fever
(3) Infectious fever (4) Traumatic fever
Options :

53622813485. 1



53622813486. 2
53622813487. 3
53622813488. 4

Question Number : 148 Question Id : 5362283463 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the cause of new diseases among humans?

(1) Encroachment of animals in human habitations

(2) Ineffectivity of existing drugs

(3) Lower resistance among humans
(4) Human activity in remote ecological settings
Options :

53622813489. 1
53622813490. 2
53622813491. 3
53622813492. 4

Question Number : 149 Question Id : 5362283464 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the consequence of disturbance of animal habitat by humans?

(1) Increased transportation

(2) Availability of larger territories

{(3) Emergence of new viruses
(4) Transfer of viruses from ammal hosts to humans
Options :

53622813493. 1
53622813494.2
53622813495.3
53622813496. 4

Question Number : 150 Question Id : 5362283465 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In order to develop effective preventive and therapeutic strategies, it 1s necessary to :
(1) malke use of globalization
(2) develop the interaction of pathogens with their hosts
(3) study pathogen — host relationship

(4) allocate more funds on research



Options :

53622813497. 1
53622813498. 2
53622813499. 3
53622813500. 4

Question Id : 5362283460 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362283461 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(3)  WHEERn 1 e (4) it 8 gig

Options :
53622813481. 1
53622813482.2



53622813483. 3
53622813484. 4

Question Number : 147 Question Id : 5362283462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) ] R (2) T HTETeH S ==
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Options :

53622813485. 1
53622813486. 2
53622813487.3
53622813488. 4

Question Number : 148 Question Id : 5362283463 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ueAl § 4 T % ) T 2
(1)  |FA4a fam b gy #1 sfarg
(2)  HreEt g i e
(3) == 4 uferiae #1 e
(4)  HE iRt i #fon | i e wen
Options :
53622813489. 1
53622813490. 2

53622813491. 3
53622813492. 4

Question Number : 149 Question Id : 5362283464 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813493. 1
53622813494.2
53622813495. 3
53622813496. 4

Question Number : 150 Question Id : 5362283465 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
oJTE | TheI F 3eld = WAl o Toa o 9 1 98 3EE
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Options :

53622813497. 1
53622813498. 2
53622813499. 3
53622813500. 4



